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T ' $Es =5 iE e s &4 p-value
20th 2 (6.3) 23 (71.9) 6 (18.8) 1 (3.1 0 (0.0) 32 (100.0) 0.100669
30tH 14 (25.0) 27 (48.2) 13 (23.2) 2 (3.6) 0 (0.0) 56 (100.0)
ol 40ty 2 (6.3) 15 (46.9) 13 (40.6) 2 (6.3) 0 (0.0) 32 (100.0)
; 50t 0 (0.0) 6 (46.2) 6 (46.2) 1 (7.7) 0 (0.0) 13 (100.0)
© 60t 0 (0.0) 2 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (100.0)
7]} 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
Fe 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)
AL A skAY 2 (7.7) 20 (76.9) 3 (11.5) 1 (3.8) 0 (0.0) 26 (100.0) 0.80205
A 0 (0.0) 45 (52.9) 4 (47.1) 0 (0.0) 0 (0.0) 85 (100.0)
4713 6 (15.8) 22 (57.9) 9 (23.7) 1 (2.6) 0 (0.0) 38 (100.0)
B2AagE
o &) 7] 0 (0.0) 1 (33.3) 2 (66.7) 0 (0.0) 0 (0.0) 3 (100.0)
f sk ¢l 2 (16.7) 5 (41.7) 4 (33.3) 1 (8.3) 0 (0.0) 12 (100.0)
= ATAa 2 (174 35 (30.4) 5 (43.5) 1 (8.7) 0 (0.0) 115 (100.0)
Wl 1 125 4 (50.0) 3 (37.5) 0 (0.0) 0 (0.0) 8  (100.0)
TEYE 5 (185) 12 (44.4) 8 (29.6) 2 (7.4) 0 (0.0) 27  (100.0)
7] €} 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
Fe 0 (0.0) 1 (50.0) 1 (50.0) 0 (0.0) 0 (0.0) 2 (100.0)
1dn g 1 (7.1) 9 (64.3) 3 (21.4) 1 (7.1) 0 (0.0) 14 (100.0) 0.49827
1-24d 1 (8.3) 8 (66.7) 3 (25.0) 0 (0.0) 0 (0.0) 12 (100.0)
3-44 2 (154 7 (53.8) 4 (30.8) 0 (0.0) 0 (0.0) 13 (100.0)
7 5-9d 6 (21.4) 14 (50.0) 7 (25.0) 1 (3.6) 0 (0.0) 28 (100.0)
| 10-143 5 (23.8) 8 (38.1) 7 (33.3) 1 (4.8) 0 (0.0) 21 (100.0)
15-199 0 (0.0) 7 (53.8) 5 (38.5) 1 (7.7) 0 (0.0) 13 (100.0)
2013 o] 0 (0.0) 7 (46.7) 8 (63.3) 0 (0.0) 0 (0.0) 15 (100.0)
F3 3 (15.0) 13 (65.0) 2 (10.0) 2 (10.0) 0 (0.0) 20 (100.0)
Z A 18  (13.2) 73 (63.7) 39 (28.7) 6 (4.4) 0 (0.0) 136 (100.0)
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<E 3> 458 S84 EAZE AT 2EH2 HE

= R R ¥ L= B - M R .
T A9M9 | 9w | wrw | wrw | eazw | gug | ¥ .
20T 6 (188) | 17 (53.1) 5 (156) 3 (94) 1 (@31 0 (0.0) 0 (0.0 32 (100.0)
30t 8 (143) | 20 (357 | 20 (35.7) 6 (10.7) 2 (3.6 0 (0.0) 0 (0.0 56 (100.0)

o | 40tH 3 (94) 10 (31.3) 8 (25.0) 6 (18.8) 4 (12.5) 1 (3.1 0 (0.0 32 (100.0)

£ 50th 1 7.7 4 (30.8) 2  (154) 2 (154) 4 (30.8) 0 (0.0 0 (0.0 13 (100.0)
60tH 1 (50.0) 0 (0.0 1 (50.0) 0 (0.0 0 (0.0) 0 (0.0) 0 (0.0 2 (100.0)
Feg 0 (0.0) 0 (0.0 1 (100.0) 0 (0.0 0 (0.0) 0 (0.0) 0 (0.0 1 (100.0)
71 A sk Y 5 (19.2) | 15 (7.7 4  (154) 2 (17 0 (0.0) 0 (0.0) 0 (0.0 26 (100.0)
AFE 1 (118 | 15 (176) | 3 (35.3) 1 (118 1 a1 | 1 118 | 0 (0.0 | 85 (100.0)
=471 6 (158) | 16 (42.1) | 10 (26.3) 4 (10.5) 2 (653 0 (0.0 0 (0.0 38 (100.0)
H@%? 0 (0.0 2 (66.7) 1 (33.3) 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0 3 (100.0)

NELL

& ggay 1 (&3 6 (50.0) 3 (25.0) 1 &3 1 (&3 0 (0.0) 0 (0.0 12 (100.0)
AT 2 (174 | 35 (30.4) 3 (26.1) 3 (26.1) 0 (0.0 0 (0.0 0 (0.0) | 115 (100.0)
< 1 (125 3 (375 3 (375) 0 (0.0) 1 (125) 0 (0.0 0 (0.0 8 (100.0)
TR 3 (11.1) 3 (11.1) 9 (33.3) 6 (22.2) 6 (22.2) 0 (0.0 0 (0.0 27 (100.0)
T 0 (0.0 1 (50.0) 1 (50.0) 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0 2 (100.0)
1 vt 3 (21.4) 5 (35.7) 2 (14.3) 2 (14.3) 2 (14.3) 0 (0.0) 0 (0.0 14 (100.0)
1-2d 2 (16.7) 6 (50.0) 2 (16.7) 2 (16.7) 0 (0.0 0 (0.0 0 (0.0 12 (100.0)
3-4d 1 7.7 5 (385) 6 (46.2) 1 77 0 (0.0) 0 (0.0 0 (0.0 13 (100.0)

7 5-94d 3 (107 | 10 (357 | 10 (357 2 (7.1) 3 (10.7) 0 (0.0 0 (0.0 28 (100.0)

g1 10-14 3 (14.3) 6 (286) 7  (33.3) 5 (23.8) 0 (0.0) 0 (0.0 0 (0.0 21 (100.0)
15-19 2 (15.4) 4 (30.8) 3 (23.1D) 2 (154) 2 (15.4) 0 (0.0 0 (0.0 13 (100.0)
20d o] A+ 2 (13.3) 5 (33.3) 1 6.7) 2 (13.3) 4 (26.7) 1 (6.7 0 (0.0 15 (100.0)
T 3 (15.0) | 10 (50.0) 6 (30.0) 1 (5.0 0 (0.0 0 (0.0 0 (0.0 20 (100.0)

A A 19 (14.0) | 51 (375 | 37 (27.2) 17 (125) | 11 (81) 1 (0.7 0 (0.0 | 136 (100.0)
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<E 4> 222 ARH o2 Y7 & £ Jde7t 9%

i

7B a2 o A p-value

20t 8 (250) | 24 (75.0) 32 (100.0) | 0.58203
30tH 20 (35.7) | 36 (64.3) | 56 (100.0)
40tH 8 (25.0) | 24 (75.0) | 32 (100.0)
3 | som 6 (462) | 7 (538) | 13 (100.0)
60tH 1 (500) | 1 (50.0) 2 (100.0)
7] €} 0 (0.0 0 (0.0 0 (0.0)
Tew 0 (0.0 1 (100.0) 1 (100.0)

A QA 34 8 (308) | 18 (69.2) | 26 (100.0) | 0.16737
AL 35 (41.2) | 5 (588) | 85 (100.0)
=473 7 (184) | 31 (81.6) | 38 (100.0)
igj&]‘y‘j 3 (10)0'0 0 (0.0 3 (100.0)
g 4 (333 | 8 667 12 (100.0)
SRR 45 (39.1) | 7 (60.9) | 11,5 (100.0)
R 3 (375) | 5 (62.5) 8 (100.0)
T 10 (37.0) | 17 (63.0) | 27 (100.0)
= 0 (0.0 | 0 (0.0 0 (0.0
] 0 (0.0 2 (100.0) 2 (100.0)

1dn] g 7 (5000 | 7 (50.0) | 14 (100.0) | 0.55695
124 2 (167) | 10 (833) | 12 (100.0)
3-4d 4 (308 | 9 (69.2) | 13 (100.0)
7 | 594 10 (357) | 18 (64.3) | 28 (100.0)
2| 10-149 7 (333) | 14 (66.7) | 21 (100.0)
15-19d 3 (231) | 10 (76.9) | 13 (100.0)
20 o] %4 6 (40.0) | 9 (60.0) | 15 (100.0)
et 4 (2000 | 16 (80.0) | 20 (100.0)
A 43 (31.6) | 93 (68.4) | 136 (100.0)
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<& 5> AAAABETOF TAASO 222 A= #YF aFFE

7 B2 1 = (%)
duklwch A v =y Fola & A elojof gt 51 (37.5)
AublE v § =5 Hola g #olojof d} 74 (54.4)
Aukelst go AR mEHolw feHolw Hrt 11 8D
ARkl E v v =Y3t &2 FEololx= Fsitt 0 (0.0

2 7 136 (100.0)
AR FAAEC] 2w AZdEke &4 el U §
gAe] diste] 7e @ FEHS AL & wiAAd, F AHE, A H
Hol wel SAHes AAS B Ay BT fold AolE HelA &gk
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Qi W nd GHY 2T4E
TE =S | gge sz | re sz | dwe sz = prvane
WA 0 (388) 57 (553) 6 (58 0 (0.0 103 (100.0) | 04537
IR 11 (344) 17 (331 4 (125) 0 (0.0 32 (1000)
200 11 (344) 18 (563) 3 (94) 0 (0.0 32 (1000) | 0.1321
o | 300 21 (375) 29 (51.8) 6 (10.7) 0 (0.0 56 (100.0)
L | o 11 (344 21 (656) 0 (0.0 0 (0.0 32 (100.0)
50t 7 (538) 6 (462) 0 (0.0 0 (0.0 13 (1000)
60t 1 (500 0 (0.0 1 (500 0 (0.0 2 (1000)
PR 11 (423 14 (538 1 38 0 (0.0 % (1000 | 06182
AH &3 7 4 (47.0) 45  (529) 0 (00 0 (00 85  (100.0)
24 7] 12 (316 23 (605) 3 (79 0 (0.0 38 (100.0)
2 igf—g 1 (333) 2 (66.7) 0 (0.0 0 (0.0 3 (1000)
s e | 5 (417 6 (50.0) 1 B3 0 (00 12 (100.0)
AT 2 6 (522) 45 (390) 1 6D 0 0O | 115 (100.0)
EE 0 (0.0 6 (750 2 (25.0) 0 (0.0 8 (100.0)
ZEAR 12 (444 14 (519 1 3D 0 (0.0 27 (100.0)
A4 51 (375) 74 (544) 11 8D 0 (0.0 136 (100.0)
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<E 7> ARFASE EA FA2Y 222 ZAAYE S FuE AL
- = == . ol A3 . N
:rL - X]"r o © 7]’1:! 7]___1‘:'_1 %TL]— T 6 H 4—7‘“
200 3 04 | 7 2l9 | 8 0 | 5 (56| 5 156 4 (25| 32 (1000
300 4 (71 | 7 (125) | 13 (232) | 14 (250)| 10 (17.9) | 8 (143)| 56 (100.0)
o | 400 1 31 | 4 (125 | 10 313) | 8 (250 | 4 (125)| 5 (156) 32 (100.0)
4 | 50m) 0 (00) | 0 (00 | 3 (231) | 4 (308)| 2 (154)| 4 (308)| 13 (100.0)
60T 0 00 | 0 00O | 0 00 | 1600 1 Gy 0 00 | 2 (1000
gt 0 00 | 0 (00 | 1 (1000 | 0 (00| 0 00 | 0 00 | 1 (100.0)
AdASA | 4 (154) | 6 (231) | 7 (269 | 3 (115)| 3 (115 | 3 (115 | 26 (100.0)
A9l 118 0 00 |15 176) | 1 (118) | 4 47.1)| 1 (11.8)| 85 (100.0)
%4977 2 53| 0 00 | 11 (289 | 12 G316)| 7 (184)| 6 (158 | 33 (100.0)
. %gﬁg 0 (00| 0 0 | 1 333 0 00| 0 00 | 2667 3 (1000)
= | gewg 0 (00) | 4 333)| 3 (50 | 3 (50| 1 83 | 1 83 | 12 (100.0)
A2 0 00 | 1 87 |45 (G391 | 2 74| 2 A74) | 2 (74) | 115 (100.0)
99l 0 00| 2 50| 0 00 | 4 G000 | 1325 | 1 (125 | 8 (100.0)
T 1 37 | 5 (185 | 5 (185 | 7 (259)| 4 (148) | 5 (185) | 27 (100.0)
wow 0 00| 0 (00 | 2 1000 0 00| 0 00 | 0 00 | 2 (100.0)
TR 2 (143)| 4 (86)| 2 (43 | 1 (7D | 3 @La | 2 (143 | 14 (1000)
124 0 (00| 0 (00 | 3 (250 | 2 (167 | 4 333 | 3 (250 12 (100.0)
34 2 154)| 0 (00 | 1 (77 | 4 (308 | 3 231 | 3 (23D | 13 (100.0)
A | 599 0 00 | 6 @14 | 5 (179 | 6 @14 | 4 143 | 7 (250)| 28 (100.0)
2 | 101449 1 48) | 1 48 | 6 (286) | 5 (238)| 5 (238)| 3 (143)| 21 (100.0)
15-19 0 00 | 0 (00 | 6 462 | 6 62| 1 @D | 0 00 | 13 (100.0)
20 o] 4 0 (00) | 1 67 | 5 333 | 5 (333)| 2 (133 | 2 (133)| 15 (100.0)
Tgu 3 (1500 6 (300) | 7 (350) | 3 (150)| 0 00 | 1 (50) | 20 (100.0)
A 8 59 | 18 (132) | 35 (57) | 32 (235)| 22 (162 | 21 (I54) | 136 (100.0)
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<E 8> 54 Fau 2R 53¢ dobd Ao e A=

T 2} =% 7HE ol ke | A9 §le g A p-value
204 3 (9.4 7 (21.9) 8 (25.0) 5 (15.6) 5 (15.6) 4 (12.5) 32 (100.0) | 0.91284
30th 4 (7.1) 7 (12.5) 13 (23.2) 14 (25.0) 10 (17.9) 8 (14.3) 56 (100.0)
A | 400 1 (3.1 4 (12.5) 10 (31.3) 8 (25.0) 4 (12.5) 5 (15.6) 32 (100.0)
= 50th 0 (0.0 0 (0.0) 3 (23.1) 4 (30.8) 2 (15.4) 4 (30.8) 13 (100.0)
60th 0 (0.0 0 (0.0 0 (0.0) 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
T H 0 (0.0 0 (0.0 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0)
AL A skAY 4 (15.4) 6 (23.1) 7 (26.9) 3 (11.5) 3 (11.5) 3 (11.5) 26 (100.0) | 0.14371
A 1 (11.8) 0 (0.0) 15 (17.6) 1 (11.8) 4 (47.1) 1 (11.8) 85 (100.0)
=47] 2 (5.3) 0 (0.0 11 (28.9) 12 (31.6) 7 (18.4) 6 (15.8) 38  (100.0)
s i?&ﬂ 0 (0.0 0 (0.0 1 (33.3) 0 (0.0) 0 (0.0) 2 (66.7) 3 (100.0)
= | HE
= [slicignatl] 0 (0.0 4 (33.3) 3 (25.0) 3 (25.0) 1 83 1 (83) 12 (100.0)
A4 0 (0.0 1 (87) 45 (39.1) 2 (17.4) 2 (17.4) 2 (17.4) 115 (100.0)
Wl 0 (0.0 2 (25.0) 0 (0.0) 4 (50.0) 1 (12.5) 1 (125) 8 (100.0)
TETAT 1 (37 5 (185) 5 (185) 7 (25.9) 4 (14.8) 5 (185) 27 (100.0)
T 0 (0.0 0 (0.0) 2 (100.0) 0 (0.0 0 (0.0 0 (0.0 2 (100.0)
1wk 2 (14.3) 4 (28.6) 2 (14.3) 1 (7.1 3 (21.4) 2 (14.3) 14 (100.0) | 0.03439
1-24d 0 (0.0 0 (0.0 3 (25.0) 2 (16.7) 4 (33.3) 3 (25.0) 12 (100.0)
3-4d 2 (15.4) 0 (0.0 1 (7.7 4 (30.8) 3 (23.1) 3 (23.1) 13 (100.0)
%! 5-94d 0 (0.0 6 (21.4) 5 (17.9) 6 (21.4) 4 (14.3) 7 (25.0) 28 (100.0)
E 10-144 1 438 1 (4.8) 6 (28.6) 5 (23.8) 5 (23.8) 3 (14.3) 21 (100.0)
15-19d 0 (0.0 0 (0.0 6 (46.2) 6 (46.2) 1 (7.7 0 (0.0 13 (100.0)
2013 o] 0 (0.0 1 (6.7 5 (33.3) 5 (33.3) 2 (13.3) 2 (13.3) 15 (100.0)
o 3 (15.0) 6 (30.0) 7 (35.0) 3 (15.0) 0 (0.0 1 (6.0) 20 (100.0)
A 8 (5.9) 18 (132) | 35 (257) | 32 (235) | 22 (16.2) | 21 (154) | 136 (100.0)
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<E 9> B o) A7 EE w2HA ZAAAE LTI 29
7 % A% %3 AE | ox g | A% 8 | Tew A
200 1T 31 | 9 @D ] 11 344 | 5 (56 | 5 (56 | 1 BD | 32 (1000
304 1 8 | 4 21 | 17 Go4) | 16 (86) | 15 268) | 3 G4) | 56  (100.0)

@ | 40t 0 00 | 3 ©4 | 7 @19 | 10 G13) | 10 G13 | 2 63 | 32 (1000

3 | 500 L an | 1 an | 2 as4 | 3 @31 | 6 @62 | 0 00 | 13 (100.0)
604l 0 00 | 0 (00 | 0 (00 1 G0 | 1 G0o) | 0 (00 2 (100.0)
7 0 00 | 0 (00 | 0 (00 1 (1000 | 0 00 | 0 (00 1 (100.0)
A A 5} Al 1 38 | 7 269 | 10 (385 | 4 (54 | 3 (115 | 1 38 | 26 (100.0)
% 0 00 | 1 (118 | 2 @35 |25 204 | 3 33| 0 00 | 85 (1000
27473 0 00 | 2 B3 | 7 (84 | 11 289 | 16 @2 | 2 (3 | 38 (1000
%gf—ﬁ 0 00 | 0 00 | 0 00 2 667 | 0 00 | 1 (333 3 (100.0)

. o

ES I 1 83| 1 83 | 6 G0 | 2 67 | 2 167 | 0 00 | 12 (100.0)
A2 0 00 | 2074 | 2 74 |55 @78 | 0 ©0 | 2 (174 | 115 (100.0)
39l 0 00 | 0 (00 | 1 (25 | 4 (00 | 3 (375 | 0 (00 8 (100.0)
A 1 @7 | 4148 | 8 (296 | 4 (148 | 10 (700 | 0 00 | 27 (1000
wog 0 00O | 0 00 | 1 (00 | 1 (00 | 0 00 | 0 00 2 (100.0)
1du 0 00 | 3 @4 ]| 6 @9 | 1 a1 3 @24 | 1 @D | 14 (1000
1-2 0 00 | 206 | 2 6D | 3 B0 | 5 @D | 0 ©0 | 12 (100.0)
3-44 0 00 | 3@ | 1 G | 3 @D | 5 68| 1 @D | 13 (1000

a |59 0 00 | 1 36 | 8 (86 | 10 37 | 8 286 | 1 36 | 28 (1000

g | 10-1449 1 48 | 343 | 4 190 | 5 38 | 7 (33| 1 @8 | 21 (100.0)
15-199 0 00 | 1 @D | 3 @) | 4 308 | 4 G| 1 @D | 13 (1000
204 o] 24 1 67D | 0 00 | 3 200 | 6 @00 | 5 @333 | 0 00 | 15 (100.0)
wo 1 G0 | 4 (200 | 10 (50.0) 200 | 0 ©0 | 1 GO | 20 (1000
A 3 (22 | 17 125 | 37 (272 | 36 (265) | 37 272) | 6 44 | 136 (100.0)
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<E 10> &M 5RIFFC) ds) SAHE Aol Y4 24
TR A5 3% s obF ZbE | A¥ 9% | T8¢ 27 p-value
20t 4 (125) [ 5 (156) | 11 (344) [ 5 (156) 4 (125 [ 3 4 | 32 (100.00 | 003007
30t 2 36) | 3 G4 |11 196) | 16 (286) | 18 (32D | 6 107 | 5  (100.0)
@ | 401 0 00 | 3 (94 | 2 (63) 10 (31.3) 9 (281 | 8 (250 | 32 (1000
9 | 50t 0 00 | 1 77D | 1 @D 2 (154 | 4 (308 | 5 (385 | 13 (100.0)
60t 0 00 | 0 (00 | 0 (0.0 2 (1000) | 0 (0O | 0 (00O | 2 (1000
T8 0 (00) | 0 (0.0) | 1 (1000) | 0 (0.0) 0 (00 | 0 (00 | 1 (1000
ddAsty [ 5 (192) [ 3 (115 | 8 (308) | 4 (154) 3 (115 | 3 (115 | 26 (10000 | 003353
A 0 00 | 0 (0O | 2 (235 | 2 (235 3 (353) | 15 (176) | 85  (100.0)
SA7 % 0 00O | 0 (00 | 2 (53) 15 (395 | 16 421 | 5 (132) | 38  (100.0)
CagiE o000 000 |1 @3 000 |1 @) 1 @ | 3 400
% | Wt 0 (00) | 2 (167 | 4 (333) | 1 (83 3 (250 | 2 (167 | 12 (100.0)
A 0 00 | 1 &7 | 3 261 | 4 (348) 1 @7 |25 QLD | 115 (100.0)
R 0 00 | 0 (0O | 1 (125 | 3 (375) 3 (375 | 1 (125 | 8  (100.0)
TFEFAN 1 37 | 5 (185 | 4 (148) | 6 (222 5 (185 | 6 (222 | 27 (100.0)
) 0 00) | 1 (500) | 1 (50.0) | 0 (00) 0 (00 | 0 (00 | 2 (1000
%4 0 00 | 2 @7 [ 6 (ALD [ 16 297 | 215 (399) [ 83 (1565 | 538 (100.0) | 002188
Bk 0 00 | 0 (0O | 2 (00 | 0 (00 2 (600 | 0 (0O | 4 (1000
A7 0 00 | 0 (0O | 0 00O |18 (647 1 @33 | 0 00 | 28 (1000
= | A7 15 4D | 4 (109 | 8 2L7D |78 2L3) | 75 (204) | 8 (217 | 368 (100.0)
o AAARE 105 86) | 0 (00) | 2 (343) | 2 (343 0 (00 |13 (229 | 58 (100.0)
TR | 0 00 | 0 00 | 2 226 | 2 (226 | 15 (70 |33 377 | 88  (1000)
W 1 (102) | 2 (03) | 3 (305 |13 (136) | 15 (153) | 1 (102) | 98 (100.0)
71t 0 (00) | 1 (50 | 1 (2650 | 2 (500 0 0O | 0 0O | 4 (1000
S 3 (300) | 3 (300 | 2 (200 | 2 (200) 0 00 | 0 (00 | 10 (100.0)
2 A 6 (4.4) 12 (8.8) 26 (19.1) 35 (25.7) 35 (257) | 22 (162) | 136 (100.0)
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<E 11> ZFHH o= A=A Q78 2L FS
T B 27 % g olF 7tE | AF Yo | FLH 27
20H 3 (94) 9 (281) 12 (375) 4 (125) 3 (94) 1 (3.1) 32 (100.0)
304 3 (54) 13 (23.2) 17 (30.4) 14  (25.0) 6 (10.7) 3 (54) 56 (100.0)

o | 40t 1 @31 2 6.3) 16 (50.0) 9 (28.1) 3 (94 1 (3.1 32 (100.0)

K 50 0 (0.0 2  (154) 2 (154) 5 (385) 4 (30.8) 0 (0.0 13 (100.0)
60 0 (0.0) 0 (0.0) 0 (0.0 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
R 0 (0.0) 1 (100.0) 0 (0.0 0 (0.0) 0 (0.0 0 (0.0) 1 (100.0)
AL A sAY 3 (115) 6 (23.1) 10 (38.5) 3 (11.5) 3 (11.5) 1 (3.8 26 (100.0)
'y 1 (11.8) 0 (0.0) 2 (235) 25 (29.4) 3 (35.3) 0 (0.0) 85 (100.0)
SAH7 & 1 (26) 6 (15.8) 16 (42.1) 10 (26.3) 3 (79 2 (6.3) 38  (100.0)
H?j @ 0 (0.0) 0 (0.0) 0 (0.0 3 (100.0) 0 (0.0 0 (0.0) 3 (100.0)

o | A7)

& guy 0 (0.0 3 (25.0) 6 (50.0) 2 (16.7) 0 (0.0) 1 (83) 12 (100.0)
AT 1 (&7 5 (435) 3 (26.1) 15 (13.0) 0 (0.0 1 &7 115 (100.0)
Wl 0 (0.0 1 (125 3 (375) 3 (375) 1 (125) 0 (0.0 8  (100.0)
T 1 @37 4 (14.8) 7 (259) 8 (29.6) 7 (25.9) 0 (0.0) 27 (100.0)
R 0 (0.0 2 (100.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0) 2 (100.0)
1du gk 0 (0.0) 3 (21.4) 6 (429) 2 (14.3) 2 (14.3) 1 (7.1) 14 (100.0)
1-2+ 1 83 4 (33.3) 4 (33.3) 2 (16.7) 1 (83) 0 (0.0) 12 (100.0)
3-4d 0 (0.0) 0 (0.0) 7 (53.8) 2 (154) 3 (23.1) 1 (7.7 13 (100.0)

Z 5-9d 2 (7.1) 6 (21.4) 9 (32.1) 7 (25.0) 4 (14.3) 0 (0.0) 28 (100.0)

41 10-1493 0 (0.0 6 (28.6) 5 (23.8) 7 (33.3) 3 (14.3) 0 (0.0 21 (100.0)
15-194 0 (0.0 1 7.7) 6 (46.2) 2 (1564) 2 (154) 2 (154) 13 (100.0)
203 o] 0 (0.0 1 6.7) 5 (33.3) 7 (46.7) 2 (13.3) 0 (0.0 15 (100.0)
T 4 (20.0) 6  (30.0) 5 (25.0) 4 (20.0) 0 (0.0 1 (5.0 20 (100.0)

A 7 (6.1 27  (19.9) 47 (34.6) 33 (24.3) 17 (125) 5 (3.7 136 (100.0)
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<E 12> oA ASAHE st B¢
T B A % 7tE ol 7HE | AT Yd &y By | p-value
20t 4 (125) 8 (25.0) 8 (25.0) 6 (18.8) 3 (94) 3 (94) 32 (100.0) | 0.09197
30Th 2 (36 14 (25.0) 8 (14.3) 14 (25.0) 10 (17.9) 8 (14.3) 56 (100.0)
ol | 40t 0 (0.0 1 3D 7 (219 17 (53.1) 2 (6.3) 5 (15.6) 32 (100.0)
% | 50t 0 (0.0 1 @17 2 (154) 3 (23.1) 3 (23.1) 4 (30.8) 13 (100.0)
60dh 0 (0.0 0 (0.0 0 (0.0 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
] 0 (0.0 0 (0.0 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
A A &+ A 4 (154) 7 (269) 5 (19.2) 4 (154) 3 (115 3 (115 26 (100.0) | 0.16405
At 0 (0.0 1 (11.8) 1 118 3 (35.3) 2 (235) | 15 (176) 85 (100.0)
A7 1 26 3 (79 5 (132) 21 (55.3) 4 (105) 4 (105 38 (100.0)
A
) 0 (0.0 0 (0.0 0 (0.0 1 (33.3) 0 (0.0 2 (66.7) 3 (100.0)
2| W7
5| e 0 (0.0 5 (41.7) 2 (16.7) 2 (16.7) 2 (16.7) 1 (83) 12 (100.0)
AT 0 (0.0 3 (26.1) 3 (26.1) 1 (87 1 87 | 35 (304) | 115 (100.0)
=R 0 (00 1 (125) 3 (375) 1 (125 2 (25.0) 1 (125) 8  (100.0)
T 1 @37 3 11D 6 (222 8 (296) 5 (185) 4 (14.8) 27 (100.0)
T 0 (0.0 1 (50.0) 0 (0.0 1 (50.0) 0 (0.0 0 (0.0 2 (100.0)
1dm Rk 1 (7.1 3 (214) 4 (286) 3 (21.4) 1 (7.1 2 (14.3) 14 (100.0) | 0.21945
1-2¢ 0 (0.0 2 (167 4 (333) 1 (83) 3 (250 2 (16.7) 12 (100.0)
3-4d 0 (0.0 1 @7 3 (23.1) 5 (385) 2 (154) 2 (154) 13 (100.0)
7 | 5-94 1 (36) 5 (17.9) 3 (107 7 (25.0) 7 (25.0) 5 (17.9 28 (100.0)
2 | 10-14d 1 48 3 (14.3) 4 (19.0) 7 (333) 3 (14.3) 3 (14.3) 21 (100.0)
15-19d 0 (0.0 0 (0.0 3 (23.1) 9 (69.2) 1 (77 0 (0.0 13 (100.0)
20 o] AF 0 (0.0 2 (13.3) 2 (133) 6 (40.0) 2 (13.3) 3 (20.0) 15 (100.0)
] 3 (15.0) 8 (40.0) 2 (10.0) 4 (20.0) 0 (0.0 3 (15.0) 20 (100.0)
A A 6 (44) | 42 (309 | 25 (184) 42 (30.9) 19 (140) | 20 (147 | 136 (100.0)
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<% 13> A d4d s dHHez 27 o= BF

T B A % 7t ol 7t | AF Yt F&H By |
20dh 4 (125) 4  (125) 11 (34.4) 9 (281 3 (94 1 (31D 32 (100.0)
30th 1 (1.8 11 (19.6) 8 (143) | 24 (429) 11 (19.6) 1 (1.8 56 (100.0)
ol | 40th 0 (0.0 4  (125) 8 (25.0) | 12 (375) 6 (188) 2 (6.3) 32 (100.0)
% | 50t} 1 @D 1 @D 2 (154) 3 (23.1) 6 (46.2) 0 0.0 13 (100.0)
60Th 0 (0.0 0 00 0 (0.0 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
& 0 (0.0 0 (00 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
A ) &k A 2 (17 2 (17 8 (30.8) 9 (346) 4 (15.4) 1 (38 26 (100.0)
A 0 (.0 2 (235) 1 (118 | 1.5 176) 4 (47.1) 0 0.0 85  (100.0)
A7) 1 @26 4  (105) 12 (316) | 15 (395) 5 (13.2) 1 (26) 38 (100.0)
’H{d‘lﬂ 0 (0.0 0 0O 0 (0.0 3 (100.0) 0 (0.0 0 (0.0 3 (100.0)
2| e
& | Hguy 2 (167) 2 (167 2 (16.7) 5 L7 1 (83 0 (0.0 12 (100.0)
AT 0 (0.0 2 (174 3 (26.1) | 35 (304) 2 (174 1 (87 | 115 (100.0)
e 0 (0.0 2 (250) 0 (0.0 4 (50.0) 2 (25.0) 0 0.0 8 (100.0)
TEHYR 1 @37 6 (222 2 (74 8 (29.6) 9 (33.3) 1 (37 27 (100.0)
& 0 (0.0 0 0O 1 (50.0) 1 (50.0) 0 (0.0 0 0.0 2 (100.0)
1am gt 0 (0.0 0 (0.0 7 (50.0) 3 (21.4) 3 (214 1 (7.1) 14 (100.0)
1-2d 0 (0.0 4 (333) 2 (16.7) 4 (333) 2 (167 0 (0.0 12 (100.0)
3-4d 1 D 1 @n 2 (154) 4 (30.8) 4 (30.8) 1 77 13 (100.0)
A | 599 0 (0.0 5 179 3 (10.7) | 15 (536) 5 (17.9) 0 (0.0 28 (100.0)
2| 10-149 0 (0.0 4 (19.0) 4 (19.0) 7 (333) 5 (238) 1 4.8 21 (100.0)
15-199 0 (0.0 1 @D 4 (30.8) 5 (385) 3 (231) 0 (0.0 13 (100.0)
201 o] 4 1 67 0 (0.0 4 (26.7) 5 (333) 4 (267 1 (67 15 (100.0)
] 4 (20.0) 5 (250 3 (15.0) 7 (35.0) 1 (50 0 0.0 20 (100.0)
A A 6 44 | 20 Q47 29 (21.3) | 50 (36.8) 27 (19.9) 4 (29) | 136 (100.0)
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<E 14> AHAJA 27 YAT LobA A = B
7 ' A4 3% 7V obF 7hg | A¥ fld & B p-value
20t 3 (94 8 (25.0) 8 (25.0) 6 (18.8) 4 (125) 3 (94) 32 (100.0) 0.10039
30ty 1 (1.8 5 (89 11 (19.6) 11 (19.6) 20 (35.7) 8 (14.3) 56 (100.0)
o | 40ty 0 (0.0 4 (125) 3 94 14 (43.8) 7 (219 4 (125) 32 (100.0)
3 | 500 1 @ 0 (0.0 1 @7 3 (23.1) 5 (385) 3 (23.1) 13 (100.0)
60ty 0 (0.0 0 (0.0 0 (0.0 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
Sl 0 (0.0 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0 1 (100.0)
A A gAY 3 (11.5) 4 (154) 6 (23.1) 5 (19.2) 5 (19.2) 3 (11.5) 26 (100.0) 0.02716
Abd 0 (0.0 1 (11.8) 15 (17.6) 2 (235 3 (35.3) 1 (11.8) 85  (100.0)
A7) 1 (26 1 (26 7 (184) 14 (36.8) 11 (28.9) 4 (105) 38 (100.0)
B
) 0 (0.0 0 (0.0 0 (0.0 1 (33.3) 0 (0.0) 2 (66.7) 3 (100.0)
2| HE7I#
& off 3} ul 2 1 &3 4 (333 0 (0.0) 4 (333) 2 (16.7) 1 (83 12 (100.0)
ATa 0 (0.0 0 (0.0) 45 (39.1) 1 @7 3 (26.1) 3 (261) | 115 (100.0)
R 0 (0.0 0 (0.0 0 (0.0 4 (50.0) 3 (375) 1 (12.5) 8 (100.0)
TEZT 0 (0.0 6 (222) 4 (14.8) 4 (14.8) 10 (37.0) 3 (111 27 (100.0)
&Y 0 (0.0 2 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (100.0)
1dm] et 0 (0.0 2 (14.3) 6 (42.9) 1 7D 3 (214) 2 (14.3) 14 (100.0) 0.06545
1-2¢ 0 (0.0 2 (16.7) 2 (16.7) 1 (83 5 (41.7) 2 (16.7) 12 (100.0)
3-4d 0 (0.0 1 @7 2 (154) 4 (30.8) 4 (30.8) 2 (154) 13 (100.0)
A | 5-9¢ 0 (0.0 2 (7.1 3 (107 8 (286) 10 (35.7) 5 (17.9) 28 (100.0)
2| 10-14 1 (48 2 (95) 4 (19.0) 4 (19.0) 7 (333) 3 (14.3) 21 (100.0)
15-199 0 (0.0 1 @7 2 (154) 7 (53.8) 3 (231) 0 (0.0) 13 (100.0)
20 o] % 1 6.7 1 (6.7 0 (0.0 7 (46.7) 4 (26.7) 2 (13.3) 15 (100.0)
& 3 (15.0) 7 (35.0) 4 (20.0) 3 (15.0) 1 50 2 (10.0) 20 (100.0)
A A 5 37 | 18 (132 | 23 169 | 35 257 | 37 @2 | 18 (132 | 136 (100.0)
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), ‘3w 44%6%) 08 Vebdtha Aztsta 9t

50
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e

AhF 53 le OiFT7he @SBt F8E
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<Z 15> AAFAOE QF v AL

T B A F 3 7V ol JHH A g & B
20TH 0 (0 | 5 (156) | 105 (328 | 75 (234) | 8 (250) 1 (31 | 32  (100.0)
30th 1 (18 | 3 (G4 | 10 (17.9) 13 (232 | 27 (482) | 2 (36) | 56  (100.0)
o1| 40th 1 @D | 0 (0o 1 (3.1) 10 (313 | 17 (B31) | 3 (94 | 32 (100.0)
% | 500 0 o | 1 @D 2 (15.4) 1 77 | 9 (692 | 0 (0.0) 13 (100.0)
60Th 0 0O | 0 (00 0 0.0) 0 0.0) | 2 (100.0) | 0 (0.0 2 (100.0)
& 0 00O | 0 (00 1 (100.0) 0 0.0 | 0 (0.0 0 (0.0 1 (100.0)
A ) &k A 0 (00 | 3 (115 | 8 (327 | 65 (250) | 7 (269 1 (38 | 26  (100.0)
A 1 118 | 0 (0.0 1 (11.8) 1 (11.8) | 55 (64.7) 0 (00) | 85  (100.0)
A7) 0 0O | 0 (00 7 (18.4) 9 (237 | 20 (526) | 2 (53) | 38  (100.0)
’H{d . 0 (0 | 1 (333 ] 0 0.0) 1 (333) | 1 (333 | 0 (00O 3 (100.0)
| A7
& dgtug 1 83) | 1 (83 2 16.7) 3 (2600 | 5 @17 | 0 (00 | 12  (100.0)
AT 0 O | 1 (87 2 (17.4) 2 (174) | 45 (39.1) | 2 (174) | 115  (100.0)
e 0 00 | 0 (00 1 (125) 0 00) | 7 (&5 | 0 (0.0 8 (100.0)
TR 0 (0 | 3 1LD 1 (3.7 9 (333 | 13 (481 1 @37 | 27 (100.0)
& 0 00 | 0 (00 2 (100.0) 0 0.0 | 0 (0.0 0 (0.0 2 (100.0)
1am et 0 (0 | 1 (71 | 45 (321) | 35 (250) | 4 (286) 1 (7D 14 (100.0)
1-2d 0 0O | 0 (00 2 16.7) 3 (2600 | 7 (383) | 0 (0.0) | 12  (100.0)
3-4d 0 0 | 0 (0O 0 0.0) 5 (35 | 7 (538) 1 @7 13 (100.0)
7l 56-9d 1 36 | 3 107N | 2 (7.1) 7 (250) | 15 (536) | O (0.0) | 28  (100.0)
2| 10-14 0 0O | 1 (48 5 (23.8) 2 95) | 12 (57.1) 1 48 | 21  (100.0)
15-19¢ 0 0O | 0 (00 1 (7.7) 4 (308 | 7 (53.8) 1 @77 | 13 (100.0)
201 o] 4 0 00 | 0 (00 2 (13.3) 3 (200 | 8 (533) | 2 (133) | 15  (100.0)
] 1 G0 | 4 (200 | 8 (40.0) 4 (2000 | 3 (150 | 0 (00 | 20  (100.0)
A A 2 (15 | 9 (66) | 245 (18.0) 15 (232) | 63 (463) | 6 (44) | 136  (100.0)
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2) A4S HNEH A%
44 g3 549 aTE GAT Fold 187
Sk e gl WE AAsE (1Y 191k 2ol Ad ek
50.7%(697), o} 7FHT 19.1%(26%), 7HE 8.8%(23%), ‘T F 6.6%(97),
A 0.7%(17), & 14%(19%) 2 LEFSE T
sYAEe Has s, 48, 9, 43, 2%, 38, FETl 9@
ARA A} FYRel me fold Aolg mgom g
Aol uhebd frolahA g Ron ehdth<E 16>

f
P
!
%
e
e =
R

b R

B
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SCIH| 8 (%)

[
o]

: i

(79 19] AAE #9454 =,
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<E 16> AAA 3434 A=

S 2} zz 7 ol 1 | HE ot 7S 2 p-value
20H 1 (3.1) 5 (156) |7 (219 |8 (25.0) 8 (25.0) 3 (9.4) 32 (100.0) | 0.14932
30HH 0 (0.0) 3 (5.4) 3 (5.4) 8 (14.3) 33 (58.9) 9 (16.1) | 56 (100.0)

il 40t) 0 (0.0) 0 (0.0) 2 (6.3) 7 (21.9) 19 (59.4) 4 (125) | 32 (100.0)

= 50tH 0 (0.0) 1 (7.7) 0 (0.0) 2 (15.4) 7 (53.8) 3 (23.1) | 13 (100.0)
60tH 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (100.0) |0 (0.0) 2 (100.0)
Fe 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) | 0O (0.0) 0 (0.0) 1 (100.0)
AL A skAY 1 (3.8) 3 (115) | 4 (154) |7 (26.9) 8 (30.8) 3 (115) | 26 (100.0) | 0.19915
A3 0 (0.0) 0 (0.0) 1 (11.8) | 2 (23.5) 45 (52.9) 1 (11.8) | 85 (100.0)
Z4713 0 (0.0) 1 (2.6) 1 (2.6) 5 (13.2) 26 (68.4) 5 (13.2) | 38 (100.0)
B

~ ) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (33.3) 2 (66.7) | 3 (100.0)

= gray)

& gt 0 (0.0) 3 (25.0) |2 (16.7) | 2 (16.7) 4 (33.3) 1 (8.3) 12 (100.0)
ATAa 0 (0.0) 0 (0.0) 0 (0.0) 4 (34.8) 45 (39.1) 3 (26.1) | 115  (100.0)
H 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 7 (87.5) 1 (125) | 8 (100.0)
TTAE 0 (0.0) 2 (74) 3 (11.1) |5 (18.5) 14 (51.9) 3 (11.1) | 27 (100.0)
R 0 (0.0) 0 (0.0) 1 (50.0) |1 (50.0) 0 (0.0) 0 (0.0) 2 (100.0)
=4 0 (0.0) 1 (1.9) 2 (3.7) 8 (14.9) 355 (65.9) 7.3 (136) | 53.8 (100.0) | 0.008939
) & 0 (0.0) 0 (0.0) 1 (25.0) |0 (0.0) 2 (50.0) 1 (25.0) | 4 (100.0)
Az 0 (0.0) 0 (0.0) 0 (0.0) 0.8 (294) 2 (70.6) 0 (0.0) 2.8 (100.0)

- ATA 0 (0.0) 3 (8.1) 25 (6.8) 7.3 (19.9) 16 (43.4) 8 (21.7) | 36.8  (100.0)

A 37 /AL 0 (0.0) 1 (171) | 05 (86) 1 17.1) 2 (34.3) 1.3 (229) | 58 (100.0)

= A 0 (0.0) 0 (0.0) 1 (113) |1 (11.3) 55 (62.3) 1.3 (15.1) | 88 (100.0)
S 0 (0.0) 4 (40.7) | 2 (20.3) | 1.8 (186) 2 (20.3) 0 (0.0) 9.8 (100.0)
7] e} 0 (0.0) 0 (0.0) 0 (0.0) 2 (50.0) 2 (50.0) 0 (0.0) 4 (100.0)
F& 1 (10.0) |0 (0.0) 3 (30.0) | 4 (40.0) 2 (20.0) 0 (0.0) 10 (100.0)

A A 1 07" |9 66 |12 @8 |26 191 |69 (507 |19 (140 | 136  (100.0)
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6. w2 A -‘H‘T’:loﬂ BAE 22R 9A

AR FAEAEC] AN FAEE e APl WAE T=A
A 2T gl s [2™ 2019k #Zo] e fity 4.4%(6%), ol 7H
o 10.7%(145%), 7HE 221%(30%), ‘FF  26.1%(355%), ‘AF
11.8%(167), &% 25%(347)o.2 ey S92+e] 60% 8 %= 7t o]

Ll

ol 9 F Unkw AAE T Ye Row e
s vng dd, 4, 9%, AT, 2%, 49, FI% gF @
A A3 Aol wEl FolshA @ AR YEhEgt < 17>
30
25
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o
i
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5 ] I
a
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5 7B oEUE EHaN =

[23F 20] F3ll=2/91F wAd 2223 43 W=,
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<E 17> F /A8 BXE 222 43 U=

T B A % 7t olF 7HE | A¥ flvt | F&H By |
20dh 8 (25.0) 8 (260 | 8 (250 3 94) | 2 63 | 3 (94 | 32  (100.0)
30th 5 (89 18 (321 | 13 (232 4 (71) | 2 (36) | 14 (250) | 56  (100.0)

ol | 40th 2 (6.3 7 (219 | 6 (188) 5 (156) | 0 (0.0) | 12 (375 | 32  (100.0)

% | 50t} 1 @D 25 (192 | 1 (17D 25 (192) | 2 (154) | 4 (30.8) | 13  (100.0)
60Th 0 (0.0 0 00 | 1 (500 0 00 | 0 O | 1 (00 | 2 (100.0)
& 0 (0.0 0 0.0) | 1 (100.0) 00 | 0 O | 0 (0O 1 (100.0)
7 Al s Ay 4 (154) 9 (346) | 5 (19.2) 77 | 2 @7 | 4 (154) | 26  (100.0)
Arsd 0 (0.0 2 (235 | 1 (118 | 45 (29| 0 (0O | 1 (118 | 85  (100.0)
A7) 3 (79 8 (21D | 8 (21D 2 (53) | 1 (26) | 16 421) | 38  (100.0)
’H{d . 0 (0.0 1 (333) | 2 (66.7) 0 00 | 0 O | 0 (0O 3 (100.0)

2| e

& | Hguy 3 (250) | 25 (208 | 2 (167 | 05 (42 | 0 (00 | 4 (333)| 12  (100.0)
AT 2 (17.4) 3 @D 2 74 | 15 130 | 0 (00 | 3 (@261 | 115 (100.0)
e 0 (0.0 4 (500) | 3 (375) 0 00 | 0 O | 1 125 | 8 (100.0)
TEHYR 3 ALy 6 (2220 | 6 (222 4 (148 | 3 11 | 5 (185 | 27  (100.0)
& 1 (50.0) 0 00 | 1 (500 0 00 | 0 O | 0 (0O 2 (100.0)
1dm) et 2 (143 4 (286) | 3 (214) 2 (143 | 1 (71 | 2 (143) | 14  (100.0)
1-2d 3 (25.0) 2 (167 | 4 (333) 0 00) | 1 B3 | 2 167 | 12 (100.0)
3-4d 1 @D 4 (308 | 1 7D 1 77 | 0 (00 | 6 462 | 13  (100.0)

A | 599 1 (36 11 (393) | 8 (286) 2 71 | 1 (36 | 5 179 | 28  (100.0)

2| 10-149 2 (95) 4 (190) | 4 (19.0) 3 (143) | 1 48 | 7 (333) | 21  (100.0)
15-199 0 (0.0 4 (308 | 2 (154) 2 (154 | 0 (00) | 5 (385 | 13  (100.0)
201 o] 4 0 (O | 35 (233 | 3 (200 | 25 @67 | 1 67 | 5 333 | 15  (100.0)
] 7 (35.0) 3 (1500 | 5 (25.0) 2 (100) | 1 (G0 | 2 (100 | 20  (100.0)
A A 16 (11.8) | 355 (261) | 30 (221) | 145 (107 | 6 (44 | 34 (250) | 136  (100.0)
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D 2227 A4 faled/od 74 o5
AL FAAE] AN FaEd Eu Aol WAH TEAE
A Bk o] el fEatel Al AF freldeld gl sl olof
7l ol ok 2=AbE [ 2109} 2ol ‘HE iy 6.6%(9%), ol
7HE 88%(12%), 7HE 19.9%(279), ‘FF 34.6%(47H), ‘AT 20.6%(28
), HeH 96%(137)E wEht 75%9 &AL JhE ol el el
FdTa AZss Ao eyt

Agel viag s, 4w, 99, 4

40
35
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o
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a
e 38 B o EEin 238E

(2% 21] 2244 #HEL/AY A 42
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<E 18> ZEAAA FAHEZ/AE FA A%
T B A} <+ 7 o} 7HH A3 g R | p-value
20tH 7 (L9 | 11 (344 | 7 @19 | 1 3GD | 3 4 | 3 94 | 32 (100.0) | 010522
30ty 10 (179 | 16 (286) | 16 (286) | 4 (7D | 4 (71D | 6 (107 | 5  (100.0)
o | 400 8 (250) | 14 438 | 4 (125 | 3 ©4 | 1 @D | 2 63 | 32 (1000
4 | 500 3 (23D | 5 (385 | 0 (00O | 2 (154 | 1 (77 | 2 (154 | 13 (100.0)
60tH 0 O | 0 (O | 0 (0 | 2 (1000 | 0 ©0 | 0 ©O0 | 2  (100.0)
] 0 (00 | 1 (1000) | 0 (0 | 0 (00O | 0 0 | 0 ©0 | 1  (100.0)
AAATA | 8 (308 | 7 (269 | 5 (192 | 1 38 | 2 @7 | 3 (115 | 26 (1000 | 083658
ks 2 (235 | 2 (235) 1 (118 | 15 (176) 1 (118 | 1 (11.8) | 85  (100.0)
=279 6 (158 | 16 (421) | 11 (289 | 2 (B3 | 1 (26 | 2 (B3 | 33 (1000
Said o 0o o 0o |1 @y 1 @) 0 00 | 1 @33 3 (1000
_/]K_ gl
% | gigtay 2 (167 | 6 (500) | 2 (167 | 1 83 | 1 (83 | 0 (00 | 12  (100.0)
AT A 2 (174 | 2 74 | 2 (74 |25 @D | 1 87 | 2 (174 | 115  (100.0)
EE 2 (250) | 3 @375 | 0 (00O | 1 (125 | 1 (125 | 1 (125 | 8  (100.0)
TEAR 6 (222) | 10 (37.0) | 5 (185 | 2 (74 | 1 (37 | 3 (LD | 27 (100.0)
] 0 0O | 1 (00 | 0 0 | 0 (00 | 1 (00| 0 ©0 | 2 (1000
1w gk 2 (143) 429 [ 4 286 | 0 00 | 0 00 | 2 (143 | 14 (1000 | 052451
1-24 1 83 |5 @D |1 ®) |0 (00 | 3 (B0O| 2 167 | 12 (100.0)
3-4y3 3 @D | 4 308 | 3 @1 |1 @» |1 @n |1 @0 | 13 (1000
A | 5-99 4 (143) |10 (357 | 6 @4 | 2 @D |1 (36 | 5 (179 | 28  (100.0)
2 | 10-149 4 (190) | 4 (190) | 6 (286) | 4 (1900 | 2 (95 | 1 (48 | 21 (100.0)
15-194 4 (308 | 7 (38 | 0 O |1 @D |0 ©0 |1 77 | 13 (1000
201 o] A} 4 (267 | 6 (400) | 2 (133) | 2 (133 | 0 (0O | 1 67 | 15 (100.0)
7o 6 (300) | 5 (250) | 5 (250) | 2 (1000 | 2 (1000 | 0 (0.0) | 20  (100.0)
AA 28 (206) | 47 (346) | 27 (199 | 12 88 | 9 (66) | 13 (96) | 136 (100.0)
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2) A FOlAl T/ A mE:E 2R T o5
NARA FARES AFAFOA S2ATE el dolu fFel =E o
AtkaL oloprlsfEt o Aol [d 22]9F 2ol 3 fitt 6.6%(97),
‘ol 7HE 10.3%(14%), T 184%(25%), ‘FF 30.9%(429), ‘A5
24.3%(33%), ‘F-&H 9.6%(13%8)= UEY 74%°] SHAE ThE o)Xl
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B oEAE MO 2
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<E 19> AEFAA /APl =EE 223 FA oAF

T B A % 7t ol 7t | AF ot F&H A7
20TH 6 (188) | 11 (34.4) 6 (18.8) 3 (94) 3 (94) 3 (94) 32 (100.0)
30th 15 (26.8) | 16 (286) 11 (19.6) 7 (125) 3 (5.4) 4 (7.1 56 (100.0)

o1| 40th 9 (281 9 (28.1) 6 (18.8) 2 (6.3) 2 (6.3) 4 (125) 32 (100.0)

B | 500 3 (231D 5 (385) 2 (154) 0 (0.0 1 (77 2 (154) 13 (100.0)
60Th 0 (0.0 0 (0.0 0 00 2 (100.0) 0 (0.0 0 (0.0 2 (100.0)
& 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0 1 (100.0)
A ) &k A 7 (26.9) 7 (269) 5 (19.2) 2 (17 2 (17D 3 (115 26 (100.0)
A 2 (235) 3 (33) | 05 (59 1 (11.8) 1 (11.8) 1 (11.8) 85  (100.0)
A7) 9 (237 | 13 (342 10 (26.3) 2 (53) 2 (5.3) 2 (5.3) 38 (100.0)
’H{d‘lﬂ 1 (333) 0 (0.0 2 (66.7) 0 (0.0 0 (0.0 0 (0.0 3 (100.0)

2| 7 &

& dgtug 2 (16.7) 4 (33.3) 4 (333) 1 (83 1 (83 0 (0.0 12 (100.0)
AT 3 (26.1) 1 &7 1.5 (13.0) 3 (261) 1 87 2 (174) | 115 (100.0)
e 2 (25.0) 2 (250 0 00 2 (25.0) 1 (125) 1 (125) 8  (100.0)
TR 7 (259 | 11 (40.7) 2 (74) 2 (74 1 37 4 (14.8) 27 (100.0)
& 0 (0.0 1 (50.0) 0 00 1 (50.0) 0 (0.0 0 (0.0 2 (100.0)
1dm et 2 (14.3) 6 (42.9) 3 (214) 1 7D 0 (0.0 2 (14.3) 14 (100.0)
1-2d 2 (16.7) 4 (33.3) 0 00 1 (83 3 (25.0) 2 (16.7) 12 (100.0)
3-4d 3 (231D 4 (30.8) 3 (23.1) 1 @7 1 (77 1 (77 13 (100.0)

7| 56-9d 7 (25.0) 7 (25.0) 6 (21.4) 4 (14.3) 1 (36) 3 (10.7) 28 (100.0)

2| 10-14 4 (19.0) 5 (238 5 (238 4 (19.0) 2 (95) 1 (48 21 (100.0)
15-19¢ 5 (385) 4 (30.8) 2 (154) 0 (0.0 1 @7 1 7D 13 (100.0)
201 o] 4 4 (267 5 (33.3) 2 (13.3) 1 67 0 (0.0 3 (20.0) 15 (100.0)
] 6 (30.0) 7 (35.0) 4 (20.0) 2 (10.0) 1 (50) 0 (0.0 20 (100.0)

A A 33 (243) | 42 (309 25 (184) | 14 (10.3) 9 (6.6) 13 (96) 136 (100.0)
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3) AAA FAALS] BE
Aol AF R A sk A9 derth sk Aol dal (2" 23]
A E= kel o] dE vk 41.9%(5718), ‘obF ZhET 28.7%(39%), 7t
' 88%(129), ‘FF 59%(@8%), AT 0.7%(1%), ‘FE&H 14%(19%)=
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<E 20> ALAA FTARY PF

T B A 3 7H o}F 7 Ay glg F&E 2 p-value
20Th 1 3D 2 (6.3) 3 (94 10 (31.3) 13 (406) 3 (94) 32 (100.0) | 06841
30th 0 (0.0 4 (7.1) 4 (7.1 19 (339 21 (375) 8 (14.3) 56 (100.0)
ol | 40th 0 (0.0 1 @G 2 (6.3 7 (219 16 (50.0) 6 (188) 32 (100.0)
% | 50t} 0 (0.0 1 77 2 (154) 3 (231) 5 (385) 2 (154) 13 (100.0)
60Th 0 (0.0 0 (0.0 0 (0.0 0 (0.0 2 (100.0) 0 (0.0) 2 (100.0)
T8 0 (0.0 0 (0.0 1 (100.0) 0 (0.0 0 0.0 0 (0.0) 1 (100.0)
7 A sk Ay 1 (3.8 1 (38 3 (115 6 (23.1) 12 (46.2) 3 (11.5) 26 (100.0) | 0.17762
A 0 (0.0 0 (00 | 05 (9 3 (3.3) 3 (35.3) 2 (235) 85  (100.0)
A7 0 (0.0 2 (63) 2 (63 11 (289) 19  (50.0) 4 (10.5) 38 (100.0)
E?d‘la 0 (0.0 0 (0.0 0 (0.0 1 (33.3) 1 (333) 1 (333) 3 (100.0)
2 | e
& | Hgug 0 (0.0 2 (16.7) 0 (0.0 6 (50.0) 3 (25.0) 1 (83 12 (100.0)
ATFAR 0 (0.0 2 (174) | 15 (130 4 (34.8) 1 &7 3 (261 | 115 (100.0)
e 0 (0.0 0 (0.0 0 (0.0 1 (125) 6 (75.0) 1 (125) 8 (100.0)
TG 0 (0.0 1 37 3 (11D 7 (259) 12 (44.4) 4 (14.8) 27 (100.0)
& 0 (0.0 0 (0.0 2 (100.0) 0 (0.0 0 0.0 0 (0.0) 2 (100.0)
1dw Rk 0 (0.0 1 (7.1 1 (7D 4 (286) 6 (429) 2 (14.3) 14 (100.0) | 0.47832
1-2d 0 (0.0 1 (83 1 (83) 2 (16.7) 7 (583) 1 (83) 12 (100.0)
3-4d 0 (0.0 2 (154) 0 (0.0 4 (30.8) 6 (46.2) 1 D 13 (100.0)
A | 599 0 (0.0 1 (36 0 (0.0 11 (39.3) 11 (39.3) 5 (179 28 (100.0)
2 | 10-149 0 (0.0 1 48 2 (95 6 (286) 10 (476) 2 (95) 21 (100.0)
15-19 0 (0.0 0 0.0 2 (154) 2 (154) 6 (46.2) 3 (23D 13 (100.0)
2013 o] 4 0 (0.0 1 67 0 (0.0 4 (267 6 (40.0) 4 (26.7) 15 (100.0)
] 1 (5.0 1 (50 6 (30.0) (30.0) 5 (25.0) 1 (G0 20 (100.0)
A A 1 07 8 (59 12 (838) 39 (28.7) 57 (41.9) 19 (14.0) | 136 (100.0)
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7. @Y APAABAY SR AMY DA

A FAAES @A A EAY AN AL S AF 2
of Aol gk AFAY [ 24]19F o] ‘dE glul 6.6%(9%), ‘ol
7HE 154%(217), 7HE 22.8%((319), ‘FF 20.6%(28%), ‘AT 5.1%(7
g), F&H 20.4%(407) 0.2 LERSk T

o ];]X}' "] ]J-L" ’|46H /H% Oﬂ%, %j_:(,)l, _/1\;}:1,\—', 7(5)]‘—:}1:], _2’4015]_1_?,1_01] EH‘:‘}
@A As ol Wt o8 e AR ehith<E 21>
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=

[
L

STHl& M)
e w B O 3
. 1l

A T 8 o=ThE EdEith S8t
[2% 24] 84 AASARAY §5 AL vl =
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<E 21> 39 AHARTAY vk AP A&

T 2 A} % 7V obF 7tE | AF gld &8 &A
20t 2 (6.3) 6 (188) | 11 (34.4) 6 (188) 4 (125) 3 (94) 32 (100.0)
30th 2 (36) | 13 (232 | 12 (214 | 10 (179 3 (G4 | 16 (286) 56 (100.0)
ol | 40th 1 3D 8 (25.0) 5 (156) 3 (94) 1 (31 | 14 (438 32 (100.0)
% | 50t} 2 (154) 0 (0.0 3 (23.1) 1@ 1 (77 6 (46.2) 13 (100.0)
60th 0 (0.0 1 (50.0) 0 (0.0 0 (0.0 0 (0.0 1 (50.0) 2 (100.0)
] 0 (0.0) 0 (0.0 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
7 Al s Ay 0 (0.0 6 (23.1) 9 (346) 4 (154) 4 (15.4) 3 (115 26 (100.0)
Al 0 (0.0) 2 (235) 1 (118 | 35 (41.2) 1 (11.8) 1 (11.8) | 85 (100.0)
471 1 (26) 7 (184) 7 (184) 4  (105) 1 (26) | 18 (47.4) 38 (100.0)
Hfdia 1 (33.3) 0 (0.0 0 (0.0 1 (333) 0 (0.0 1 (33.3) 3 (100.0)
2| e
& | Heuy 1 (83) 2 (16.7) 3 (25.0) 2 (167 0 (0.0 4 (333) 12 (100.0)
AT 0 (0.0 2 (174) 1 @87 | 25 (21.7) 0 (0.0 6 (522) | 115 (100.0)
el 0 (0.0 3 (375) 3 (375) 0 (0.0 1 (125) 1 (125 8  (100.0)
TEAR 3 (11.1) 6 (22.2) 7 (25.9) 3 (11D 2 (74 6 (22.2) 27 (100.0)
] 1 (50.0) 0 (0.0 0 (0.0 1 (50.0) 0 (0.0 0 (0.0 2 (100.0)
1w gk 0 (0.0 2 (14.3) 4 (286) 3 (214) 2 (143) 3 (21.4) 14 (100.0)
1-2d 1 (83 2 (16.7) 2 (167 3 (25.0) 2 (16.7) 2 (16.7) 12 (100.0)
34 0 (0.0 3 (23.1) 2 (15.4) 2 (154) 0 (0.0 6 (46.2) 13 (100.0)
7 | 599 0 (0.0 8 (286) 7 (25.0) 4 (14.3) 2 (7.1 7 (25.0) 28 (100.0)
2| 10-149 1 48) 3 (14.3) 6 (286) 3 (143) 1 (48) 7 (33.3) 21 (100.0)
15-19d 1 (77 2 (154) 3 (23.1) 1 @D 0 (0.0 6 (46.2) 13 (100.0)
201d o] 2 (13.3) 2 (133) 3 (20.0) 0 (0.0 1 67 7 (46.7) 15 (100.0)
] 2 (10.0) 6 (30.0) 4 (20.0) 5 (25.0) 1 (5.0 2 (10.0) 20 (100.0)
A 7 (G1) | 28 (206) | 31 (228 | 21 (154) 9 (66) | 40 (294) | 136 (100.0)
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<E 22> ZERAA H 49 AL QAR
T B - 3 M olF 7 A3 g F&E 2 p-value
20Th 3 (94) 9 (281 9 (28.1) 5 (156) 3 (9.4) 3 (94 32 (100.0) | 0.71898
30th 3 (54) 12 (214) | 11 (196) | 19 (339 3 (5.4) 8 (14.3) 56 (100.0)
o1| 40th 4 (125) | 10 (31.3) 9 (28.1) 4  (125) 2 (6.3) 3 (94) 32 (100.0)
B | 500 1 (77 4 (30.8) 4 (30.8) 2 (154) 1 @D 1 @D 13 (100.0)
60Th 0 0.0 0 (0.0 1 (50.0) 0 (0.0 1 (50.0) 0 (0.0) 2 (100.0)
& 0 0.0 0 (0.0 0 0.0 1 (100.0) 0 (0.0 0 (0.0) 1 (100.0)
7 Al s Ay 3 (115) 8 (30.8) 6 (23.1) 3 (115 3 (11.5) 3 (11.5) 26 (100.0) | 0.47722
A 1 (11.8) 1 (118 1 (11.8) | 35 (41.2) 0 (0.0 2 (235) 85  (100.0)
A7) 2 (563) 10 (263) | 13 (34.2) 8 (21.1) 1 (26 4 (105) 38 (100.0)
E?d‘lﬂ 0 0.0 2 (66.7) 0 00 1 (333) 0 (0.0 0 (0.0) 3 (100.0)
2| 7 #
& dgtug 1 (83) 2 (16.7) 5 (417 2 (16.7) 2 (16.7) 0 (0.0) 12 (100.0)
AT 1 @87 0 (0.0 3 (261 | 45 (39.D) 0 (0.0 3 (261) | 115 (100.0)
e 0 (0.0 4 (50.0) 2 (25.0) 0 (0.0 1 (125) 1 (125) 8 (100.0)
TR 3 (11.1) 8  (29.6) 4 (14.8) 7 (259) 3 (111 2 (74) 27 (100.0)
& 0 0.0 0 (0.0 0 0.0 2 (100.0) 0 (0.0 0 (0.0) 2 (100.0)
1dm et 1 (7.1 4  (286) 4 (286) 3 (214 0 (0.0 2 (14.3) 14 (100.0) | 0.44609
1-2d 0 0.0 3 (25.0) 3 (25.0) 1 (83) 3 (25.0) 2 (167) 12 (100.0)
3-4d 3 (23.1) 2 (154) 1 @ 5 (385) 0 (0.0 2 (154) 13 (100.0)
7| 5-94 0 (0.0 8 (286) 4 (143) 9 (321 2 (71 5 (179 28 (100.0)
2| 10-14 2 (95) 3 (14.3) 6 (286) 6 (286) 2 (95) 2 (95) 21 (100.0)
15-199 1 (17 4 (30.8) 6 (46.2) 1 @D 0 (0.0 1 @7 13 (100.0)
201 o] 4 2 (13.3) 5 (333) 5 (333) 1 67 1 67 1 67 15 (100.0)
] 2 (10.0) 6 (30.0) 5 (25.0) 5 (25.0) 2 (10.0) 0 (0.0 20 (100.0)
A 11 (81 3B (257 | 34 (2500 | 31 (228 10 (7.4) 15 (11.0) | 136 (100.0)
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<E 23> 9 9t ALAO] g AGF FA ZFF

7 % A5 %3 7+E obF 7hg | Ad Yo & 27
20 3 (94) 95 (297 115 (35.9) 2 (6.3 3 (94 3 (94 32 (100.0)
30t 6 (10.7) 18 (32.1) 12 (214 13 (23.2) 3 (b4) 4 (7.1 56 (100.0)

o] | 40t 5 (15.6) 10 (31.3) 8 (25.0) 5 (156) 1 @& 3 (94 32 (100.0)

3 50 1 (7 5 (385) 3 (231 2 (154) 1 (77 1 @7 13 (100.0)
60t 0 0.0 0 0.0) 1 (50.0) 0 (0.0 1 (50.0) 0 (0.0 2 (100.0)
& 0 0.0 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0 0 (0.0 1 (100.0)
7 A gAY 3 (11.5) 95 (365) 75 (28.8) 1 (38 2 (17 3 (115 26 (100.0)
A 1 (11.8) 2 (235) 25 (294) 1 (11.8) 1 (11.8) 1 (11.8) 85 (100.0)
S H 5 (13.2) 15 (39.5) 10 (26.3) 6 (15.8) 1 @26 1 (26) 38 (100.0)
E?j . 0 0.0 2 (66.7) 1 (333 0 (0.0 0 (0.0 0 (00 3 (100.0)

2| 7 &

& dgtug 0 0.0 3 (250) 4 (333 2 (16.7) 2 (16.7) 1 ®3) 12 (100.0)
ATa 1 @7 2 (174 55 (47.8) 2 (174) 0 (0.0 1 @7 115  (100.0)
e 1 (125) 3 (375 2 (25.0) 0 (0.0 1 (125 1 (125) 8 (100.0)
TIAE 4 (14.8) 6 (22.2) 3 (11D 9 (333 2 (14) 3 (11.1) 27 (100.0)
& 0 0.0 1 (50.0) 0 (0.0) 1 (50.0) 0 (0.0 0 (0.0 2 (100.0)
1dm) gk 2 (14.3) 45 (32.1) 45 (32.1) 1 (7D 0 (0.0 2 (14.3) 14 (100.0)
1-24d 1 83 2 aen) 3 (25.0) 2 (16.7) 3 (25.0) 1 ®3) 12 (100.0)
3-4 3 (23.1D) 5 (385) 2 (154 3 (23.1) 0 (0.0 0 (00 13 (100.0)

Z 5-94 2 (7D 7 (25.0) 7 (25.0) 8 (28.6) 2 (71 2 (71D 28 (100.0)

2| 10-14 2 (95) 6 (286) 6 (28.6) 2 (95 3 (14.3) 2 (95) 21 (100.0)
15-194 2 (154) 4 (30.8) 3 (231 3 (231) 0 (0.0 1 @7 13 (100.0)
20 o] % 2 (13.3) 8 (53.3) 2 (133 1 (6.7 0 (0.0 2 (13.3) 15 (100.0)
e 1 (5.0 7 (35.0) 8 (40.0) 2 (10.0) 1 (.0 1 GO 20 (100.0)

A A 15 (11.0) | 435 (32.0) 355 (26.1) 22 (16.2) 9 (66) 11 @& 136 (100.0)
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<E 24> ALAA FTARY BT

7 2 A4 T3 7HE obF ZhE | A9 o & &4 p-value
w2t 2 (1.9 3 (29 15 (14.6) 31 (30.1) 39 (37.9) 13 (12.6) 103 (100.0) 471E-07
:::; o 2} 0 (0.0) 3 094 3 (94 9 (281) 11 (344) 6 (18.8) 32 (100.0)
&g 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0) 0 (0.0 0 (0.0 1 (100.0)
20t 0 (0.0) 3 (94 4 (12.5) 11 (34.4) 11 (344) 3 (94 32 (100.0) 0.00039
30tH 2 (36) 1 18 7 (12.5) 17 (30.4) 19 (33.9) 10 (17.9) 56 (100.0)
o 40 0 (0.0) 1 @D 5 (15.6) 9 (28.1) 12 (37.5) 5 (15.6) 32 (100.0)
K 50t 0 (0.0) 1 @7 2 (154) 3 (23.1) 6 (46.2) 1 @7 13 (100.0)
60 tH 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (100.0) 0 (0.0 2 (100.0)
&g 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0) 0 (0.0 0 (0.0 1 (100.0)
A A gAY 0 (0.0) 2 (17 3 (11.5) 7 (269) 11 (42.3) 3 (115 26 (100.0) 0.10021
AF§d 7 1 (118 0 (0.0) 1 (118 3 (33) | 25 (294) 1 (11.8) 85  (100.0)
A7) 0 (0.0) 1 (26) 6 (15.8) 13 (34.2) 13 (34.2) 5 (132) 38 (100.0)
e 0 (0.0) 0 (0.0) 0 (0.0 1 (333) 1 (33.3) 1 (333 3 (100.0)
S| @71
}': gt 0 (0.0) 2 (16.7) 0 (0.0 5 (41.7) 4 (33.3) 1 (83 12 (100.0)
ATa 0 (0.0) 1 @7 2 (17.4) 3 (261) | 15 (130) 4 (34.8) | 115 (100.0)
R 0 (0.0) 0 (0.0 2 (25.0) 1 (125 4 (50.0) 1 (125 8  (100.0)
TR 1 (@37 0 (0.0) 3 (111 7 (259) 13 (48.1) 3 (11D 27 (100.0)
& 1 (50.0) 0 (0.0) 1 (50.0) 0 (0.0) 0 (0.0 0 (0.0 2 (100.0)
2 A 3 (22 6 (44) 18 (13.2) 40 (29.4) 50 (36.8) 19 (14.0) 136 (100.0)
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<¥ 25> €84 ZF W=
} L] oaza | @ g | Avgdl | 9dd A9 .
TN s w | erw | evw | erw | amg | o0 =
e 7 63 | 1L Gid | 5 (1o | 3 00 [ 8 @™o 3 00 0 00 2 100
300 2 (36) | 14 (250) | 21 375 |10 479 | 6 101 | 3 GH | 0 ©0 | 56 (1000
a1 | 400y 0 00 | 6 188) | 8 (50) | 6 (188 | 8 (250 | 4 (125 | 0 00 | 32 (1000
4 | 509 L an |1 oan |3 @D o 00| 3 @Dl 4 @8 | 1 an | 13 1000
607 1600 | 0 00| 0 00 |0 0o |1 G| 0 ©o | o 00| 2 100
v 0 00 | 0 ©0 | 1 1000 ] 0 ©0 | 0 ©0 | 0 00 | 0 00| 1 (1000
AAATA | 2 77 | 10 385 | 4 (54 | 2 G0 | 6 L] 2 @D [ 0 00 | 26 (1000
A 0 00 | 2 @5 |15 176) | 1 118 | 3 353 | 1 118 | 0 00 | 85 (1000)
=470 | 2 (53 | 14 (368 | 13 (342 | 6 (158 | 2 B3 | 1 26 | 0 00 | 3 1000
. igjg 0 00 | 0 ©0 |2 667 |0 ©0 | 1 (333 0 00 | 0 00| 3 (1000
S loeaa | 0 00 | 2 6m | 3 @0 | 2 a6D | 2 16D | 2 161 | 1 63 | 12 (1000)
EEFN 0 00 | 2 174) |45 oD | 1 8D | 2 a0 | 2 174 | 0 ©0 | 115 (1000)
9] 125 | 1 125 | 4 (00 | 1 125 | 1 25| 0 ©0 | 0 ©0 | 8 (1000
FFAY | 1 GD | 1 @BD |5 (185 | 5 (185) | 9 B | 6 22| 0 00 | 27 100.0)
vea 0 00 | 0 0O | 1 G0 | 1 0| 0 ©0 |0 00| o 0o 2 1000
Tan g 0 00 | 3 @4 2 3 |0 00 |8 Giv| 1 7D [0 00| 14 (1000
124 2 (167) | 3 (50| 3 0 | 2 6D | 0 00 | 2 6D | 0 ©0 | 12 (100.0)
34 0 00 | 4 (08 | 5 @85 | 3 @D | 0 ©0 | 1 @D |0 00| 13 1000
A | 594 0 00 | 7 @50 |12 429 | 4 143 | 4 143 | 1 36 | 0 ©0 | 28  (1000)
4 | 10-144 2 95 | 2 ©5 | 4 190 | 6 286 | 5 @38 | 2 ©5 | 0 ©O0 | 21 (100.0)
15194 0 00 | 5 @85 | 3 @D |1 @1 | 2 4540 | 2 154 | 0 ©0 | 13 (1000)
oodolA | 1 67 | 2 a3 | 2 (33 | 0 00 | 5 @3 | 4 @n | 1 67| 15 1000
g 1 GO | 6 G000 | 7 (0 | 3 50| 2 10| 1 GO | 0 ©0 | 20 1000
AA 6 (44) | 32 (235 | 38 (279 | 19 140) | 26 (191 | 14 (103 | 1 ©7 | 136  (1000)
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<E 26> gElFo= s 2EYE P
+ % a% Be | Ee nE & | e we | a9 A | p-value
200 0 00 | 12 G5 | 11 _Gid) 8 B0 | 1 GDL | 000 32 (1000) | 022
301 40D | 20 @B | 2 (393 6 107 | 4 1 | 0 00 5% (100.0)
o | 4001 0 00 | 10 @313 | 10 (313) 7 219 | 5 (156 | 0 00 32 (100.0)
4 | 500 1 (77) 2 (154) | 4 (308 3 @D | 2 s | 17D 13 (1000)
60t 0 00 1 00 | 0 00 0 00 1 600 | 0 00 2 (100.0)
og 0 (0.0) 0 (0.0 1 (1000) | 0 (0.0 0 00 | 0 00 1 (100.0)
AT A5 0 00 | 11 @23 | 10 @85 5 (192 | 0 00 | 0 00 2% (100.0) | 030165
Abel 0 00 2 @35 | 3 @3 |25 @4 | 1 418 | 0 00 | 85 1000
=479 2 (53 | 18 “74) | 13 (342) 3 (7.9) 2 53 | 0 00 38 (100.0)
. ﬁ%ﬁ;ﬂ 0 (00) 0 (0.0) 2 (66.7) 1 333 | 0 00 0 0.0 3 (100.0)
% | getug 1 (83) 3 (250 | 3 (250 1 (83) 3 (2500 | 1 83 12 (100.0)
AT 0 0.0 3 @61 | 4 @48 |25 @D | 2 a74 | 0 00 | 115 100.0)
39l 0 00 3 375 | 4 (500) 0 (0.0 1 125 | 0 00 8 (1000)
AR 2 74) | 5 (85 | 7 (259 9 (333 | 4 148 | 0 00 27 (100.0)
2oy 0 00 0 00 2 (1000) | 0 (0.0) 0 00 | 0 00 2 (100.0)
IEELT 0 (0.0) 7 (00 | 3 (@14 1 (86 | 0 00 | 0 00 14 (1000) | 025227
124 000 | 5 @D | 4 333 1 83 2 (167 | 0 00 12 (1000)
34 000 | 4 308 | 8 ®615) 0 00 1 an | 0 0o 13 (100.0)
A | 594 136 | 11 693 | 1 393 2 (71 3107 | 0 00 28 (100.0)
2 | 10149 343 | 3 143 | 7 (333) 4 190 | 4 1900 | 0 00 21 (100.0)
15-194 000 | 4 308 | 5 (385 3 @D | 1 @D | 000 13 (100.0)
201 0] 4 000 | 5 @33 | 3 200 A 067 | 2 33 | 167 15 (100.0)
gy 1 GO | 6 G300 | 7 (350 6 (300 | 0 00 | 0 00 20 (1000)
AA 5 37 | 45 (331 | 48 (353 | 24 (76) | 13 ©96) 107 | 136 (1000)
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<E 27> ZEAAA e Folok g7t A%

+ B o oy Q T | p-value
20tH 29 (90.6) 3 (94) 0 (0.0 32 (100.0) | 0.21332
30dH 43 (76.8) 11 (19.6) 2 (36) 56 (100.0)
o | 400 21 (65.6) 11 (344 0 (0.0 32 (100.0)
4 | 500 10 (76.9) 3 (230 0 (0.0 13 (100.0)
60tH 2 (100.0) 0 (0.0 0 (0.0 (100.0)
St 0 (0.0 1 (100.0) 0 (0.0 1 (100.0)
<) A 8h A 23 (835) 3 (115 0 (0.0 26 (100.0) | 0.31039
Al 65 (765) 1 (118 1 (118 85  (100.0)
=47 26 (68.4) 11 (289) 1 (26 38 (100.0)
L | BAR g 1 (333 2 (66.7) 0 (0.0 3 (100.0)
2 | g 9 (75.0) 3 (25.0) 0 (0.0 12 (100.0)
HEEES 95 (82.6) 2 (17.4) 0 (0.0 115 (100.0)
9 8  (100.0) 0 (0.0 0 (0.0 8  (100.0)
TR 21 (778) 6 (222 0 (0.0 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1d ] et 11 (786) 2 (14.3) 1 (7D 14 (100.0) | 0.06087
1-2d 12 (100.0) 0 (0.0 0 (0.0 12 (100.0)
3-4 8 (615 5 (385) 0 (0.0 13 (100.0)
7 | 5-99 22 (786) 5 (179 1 (36) 28 (100.0)
2| 10-149 18 (85.7) 3 (14.3) 0 (0.0 21 (100.0)
15-19 6 (46.2) 7 (538) 0 (0.0 13 (100.0)
20 o] 4 10 (66.7) 5 (33.3) 0 (0.0 15 (100.0)
gt 18 (90.0) 2 (10.0) 0 (0.0 20 (100.0)
2 A 105 (77.2) 29 (21.3) 2 (15) 136 (100.0)
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<E 28> F 7kA Autd ALge] i@ =94 $AHE
ZEZ R A H= S XA ALY F o}
7+ 7 gEze A AoE A7= A &g 2 A p-value
20tH 29 (90.6) 3 (9.4) 0 (0.0 32 (100.0) | 0.29451
30th 45 (80.4) 9 (16.1) 2 (36) 56 (100.0)
o | 40t 23 (71.9) 9 (28.1) 0 (0.0 32 (100.0)
% | 50t} 10 (76.9) 3 (23.1) 0 (0.0 13 (100.0)
60tH 2 (100.0) 0 0.0) 0 (0.0 2 (100.0)
7t 0 (0.0) 1 (100.0) 0 (0.0 1 (100.0)
L A & Al 24 (92.3) 2 (7.7) 0 (0.0 26 (100.0) | 0.15412
A 6.5 (76.5) 1 (11.8) 1 (118 85  (100.0)
=473 26 (68.4) 11 (28.9) 1 (26 38 (100.0)
| e R 1 (33.3) 2 (66.7) 0 (0.0 3 (100.0)
2 | digas 10 (83.3) 2 (16.7) 0 (0.0 12 (100.0)
A2 105 (91.3) 1 (8.7) 0 (0.0 115 (100.0)
B 8  (100.0) 0 (0.0) 0 (0.0 8  (100.0)
TEAR 22 (815) 5 (185) 0 (0.0 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1w gt 11 (78.6) 2 (14.3) 1 7D 14 (100.0) | 0.38952
1-2¢ 12 (100.0) 0 (0.0) 0 (0.0 12 (100.0)
3-40d 9 (69.2) 4 (30.8) 0 (0.0 13 (100.0)
7 | 599 23 (82.1) 4 (14.3) 1 (36 28 (100.0)
2 | 10-149 17 (81.0) 4 (19.0) 0 (0.0 21 (100.0)
15-19 8 (615) 5 (385) 0 (0.0 13 (100.0)
201 o] 11 (73.3) 4 (26.7) 0 (0.0 15 (100.0)
] 18 (90.0) 2 (10.0) 0 (0.0 20 (100.0)
A A 109 (80.1) 25 (18.4) 2 (15 136 (100.0)
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<E 29> ZEAGA &HE AJA i3 EQe A=
T+ B oy e T 2 A p-value
20tH 26 (81.3) 6 (189) 0 (0.0 32 (100.0) | 0.68013
30dH 39 (69.6) 14 (25.0) 3 (54 56 (100.0)
o | 400 21 (65.6) 11 (34.4) 0 (0.0 32 (100.0)
4 | 500 10 (76.9) 3 (23.1) 0 (0.0 13 (100.0)
60tH 1 (500 1 (50.0) 0 (0.0) (100.0)
St 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)
A A 3 A 21 (80.8) 5 (192 0 (0.0) 26 (100.0) | 0.66505
Al 65 (765) 1 (11.8) 1 (11.8) 85  (100.0)
=47 27 (71.1) 10 (26.3) 1 (26 38 (100.0)
L | BAR g 1 (333 2 (66.7) 0 (0.0) 3 (100.0)
2o | digtu 9 (75.0) 3 (25.0) 0 (0.0 12 (100.0)
HEEES 65 (56.5) 4 (348 1 @7 115 (100.0)
9 6 (75.0) 2 (25.0) 0 (0.0 8  (100.0)
TR 19  (70.4) 8 (29.6) 0 (0.0) 27 (100.0)
] 2 (100.0) 0 (0.0 0 (0.0 2 (100.0)
1dm 10 (71.4) 3 (21.4) 1 (7D 14 (100.0) | 0.14371
1-2d 11 (91.7) 1 (83 0 (0.0) 12 (100.0)
3-4 6 (46.2) 7 (538) 0 (0.0 13 (100.0)
7 | 5-94 22 (786) 5 (179 1 (36 28 (100.0)
2| 10-144 16 (76.2) 4 (19.0) 1 (48 21 (100.0)
15-19 6 (46.2) 7 (538) 0 (0.0 13 (100.0)
20 o] 4 10 (66.7) 5 (333) 0 (0.0 15 (100.0)
gt 17 (85.0) 3 (15.0) 0 (0.0 20 (100.0)
e 98  (72.1) 35 (25.7) 3 (22 136 (100.0)

- 70 -



2. A A 2 FEAZ die RERA .7E B AT

T WA A ged 2

AE B, AFFO oEE ok Mo MY shuA, AR we
B0 =2¥n grhs AAS oAl Sk ATl o
AL olobrlsh dskrha dhel, St DUHYS o

Aolq 27150l olr @ oy A Fol: o] A}

1) Aol os A 1A
N AMREE wokRdel PN wEAAL TR L
Folof ali7e] Awel tia] ‘o’ 8L6%111H), ‘o] e’ 16.9% (23%),

e 15%29) ©

~_ 1%

(27 33] 22ANA FAFoA et o

- 71 -



<E 30> ZEANA L Folok st o}

+ B o oy Q e 2 A p-value

20tH 32 (100.0) 0 (0.0 0 (0.0 32 (100.0) | 0.08429
30dH 42 (75.0) 12 (214 2 (36) 56 (100.0)
o | 400 22 (63.8) 10 (31.3) 0 (0.0 32 (100.0)
4 | 500 12 (923) 1 an 0 (0.0 13 (100.0)
60tH 2 (100.0) 0 (0.0 0 (0.0 (100.0)
] 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)

A A 3 A 23 (835) 3 (115 0 (0.0 26 (100.0) | 0.24799
Al 55  (64.7) 2 (235) 1 (118 85  (100.0)
=47 28 (73.7) 9 (237 1 (26 38 (100.0)
L | BARy g 1 (333 2 (66.7) 0 (0.0 3 (100.0)
2o | Al 9 (75.0) 3 (25.0) 0 (0.0 12 (100.0)
HEEES 105  (91.3) 1 8D 0 (0.0 115 (100.0)
9l 8  (100.0) 0 (0.0 0 (0.0 8  (100.0)
TR 24 (839) 3 (11D 0 (0.0 27 (100.0)
] 2 (100.0) 0 (0.0 0 (0.0 2 (100.0)

1o wk 13 (929) 0 (0.0 1 (71 14 (100.0) | 0.03994
1-2d 12 (100.0) 0 (0.0 0 (0.0 12 (100.0)
3-4 8 (615 5 (385 0 (0.0 13 (100.0)
7| 5-94 24 (8.7) 3 (10.7) 1 (36) 28 (100.0)
2| 10-149 17 (81.0) 4 (19.0) 0 (0.0 21 (100.0)
15-194 8 (615) 5 (385) 0 (0.0 13 (100.0)
201 o] 4 10 (66.7) 5 (33.3) 0 (0.0 15 (100.0)
gt 19  (95.0) 1 (50 0 (0.0 20 (100.0)
2 A 111 (816) 23 (16.9) 2 (15) 136 (100.0)
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<E 31> F 7hA dwtd Aol did =5 A9
. 2R A H RS XA AR e .
T der= A Nelg A7E A TEH &7 p-value
200 32 (100.0) 0 (0.0) 0 (0.0 32 (100.0) | 0.22257
30t 46 (82.1) 8 (14.3) 2 (36) 56 (100.0)
o | 40t 24 (75.0) 8 (25.0) 0 (0.0 32 (100.0)
4 | 500} 12 (92.3) 1 (7.7) 0 (0.0 13 (100.0)
60tH 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)
St 1 (100.0) 0 (0.0) 0 (0.0 1 (100.0)
REEELR 24 (92.3) 2 (7.7) 0 (0.0 26 (100.0) | 0.19392
A 55 (64.7) 2 (235) 1 (118 85  (100.0)
=478 31 (81.6) 6 (15.8) 1 (26 38 (100.0)
| mAwE g 1 (33.3) 2 (66.7) 0 (0.0 3 (100.0)
5| dEtag 10 (83.3) 2 (16.7) 0 (0.0 12 (100.0)
Sl ara 105 (91.3) 1 (8.7) 0 (0.0 115 (100.0)
K 8  (100.0) 0 (0.0) 0 (0.0 8  (100.0)
TEAR 25 (92.6) 2 (7.4) 0 (0.0 27 (100.0)
] 2 (100.0) 0 (0.0) 0 (0.0 2 (100.0)
1) gt 13 (92.9) 0 (0.0) 1 (7D 14 (100.0) | 0.20157
1-29d 12 (100.0) 0 (0.0) 0 (0.0 12 (100.0)
3-43 9 (69.2) 4 (30.8) 0 (0.0 13 (100.0)
7| 594 24 (85.7) 3 (10.7) 1 (36) 28 (100.0)
2| 10-149 19 (90.5) 2 (95) 0 (0.0 21 (100.0)
15-19 10 (76.9) 3 (23.1) 0 (0.0 13 (100.0)
200 0] 11 (73.3) 4 (26.7) 0 (0.0 15 (100.0)
2ot 19 (95.0) 1 (5.0) 0 (0.0 20 (100.0)
A A 117 (86.0) 17 (1255) 2 (15 136 (100.0)
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<E 32> ZEARNA ¢EHE AJA U3 B9 A
7 2 o oly o ] 2A p-value
201 29 (90.6) 3 (94) 0 (0.0 32 (100.0) 0.26024
30t) 37 (66.1) 17 (30.4) 2 (36) 56 (100.0)
o | 400 22 (688) 10 (31.3) 0 (0.0 32 (100.0)
B | 500 10 (76.9) 3 (231 0 (0.0 13 (100.0)
60t 1 (50.0) 1 (500 0 (0.0 2 (100.0)
T8 0 (00 1 (100.0) 0 0.0 1 (100.0)
A A 8 21 (80.8) 5 (19.2) 0 00 26 (100.0) 0.64959
A 55  (64.7) 2 (235) 1 118 85  (100.0)
=2 7] % 27 (71.1) 10 (263) 1 26 38 (100.0)
wARE gas)w 1 (333 2 (66.7) 0 (0.0 3 (100.0)
= gstug 8 (667 4 (333) 0 (0.0 12 (100.0)
B EES 95  (826) 2 (17.4) 0 00 115 (100.0)
w9 5  (625) 3 (375) 0 (00 8  (100.0)
FFAY 21 (77.8) 6 (22.2) 0 (0.0 27 (100.0)
e 1 (50.0) 1 (50.0) 0 0.0 2 (100.0)
IR 11 (786) 2 (14.3) 1 (71 14 (100.0) 0.47469
129 9 (750) 3 (250) 0 (0.0 12 (100.0)
3-44 8  (615) 5 (385) 0 (00 13 (100.0)
a | 599 22 (786) 5 (17.9) 1 (36 28 (100.0)
2 | 10-149 16 (762) 5 (238) 0 (0.0 21 (100.0)
15-199 8  (615) 5 (385) 0 (0.0 13 (100.0)
201 o] 4 8 (53.3) 7 (467) 0 (0.0 15 (100.0)
g5t 17 (8.0) 3 (150) 0 (0.0 20 (100.0)
A7 99 (72.8) 3% (257 2 (15) 136 (100.0)
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<X 33> ZEAAA gHFFoof =7t AF

7 = o oy o ] Al p-value

20 29 (90.6) 2 (6.3) 1 3D 32 (100.0) 0.46318
30t 50 (89.3) 6  (10.7) 0 (0.0 56 (100.0)
o | 40th 25 (78.1) 7 (219 0 (0.0 32 (100.0)
% | 50t} 13 (100.0) 0 (0.0 0 (0.0 13 (100.0)
60t (100.0) 0 (0.0 0 (0.0 (100.0)
7o (100.0) 0 (0.0 0 (0.0 (100.0)

A A 34y 23 (885) 2 (1) 1 (38 26 (100.0) 0.17305
A 75 (88.2) 1 (118 0 (0.0 85  (100.0)
3718 33 (86.8) 5 (132 0 (0.0 38 (100.0)
R B g3 1 (333 2 (66.7) 0 (0.0 3 (100.0)
z | g 11 (917 1 (83) 0 (0.0 12 (100.0)
A2 105 (91.3) 1 @87 0 (0.0 115 (100.0)
Rl 8  (100.0) 0 (0.0 0 (0.0 8 (100.0)
TEAN 24 (889) 3 (11D 0 (0.0 27 (100.0)
7o 2 (100.0) 0 (0.0 0 (0.0 2 (100.0)

1o Rt 13 (929) 1 (7D 0 (00 14 (100.0) 0.20463
1-2¢d 10 (83.3) 1 (83 1 (83 12 (100.0)
3-4d 11 (846 2 (154) 0 (0.0 13 (100.0)
7 | 599 26 (92.9) 2 (71 0 (0.0 28 (100.0)
2 | 10-149 18 (85.7) 3 (14.3) 0 (0.0 21 (100.0)
15-194 11 (846) 2 (154) 0 (0.0 13 (100.0)
201 o] 11 (73.3) 4 (26.7) 0 (0.0 15 (100.0)
& 20 (100.0) 0 (0.0 0 (0.0 20 (100.0)
A 120 (88.2) 15 (11.0) 1 ©7 136 (100.0)
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2) Aol digk =94 3
o] AHE FEAAA dEFE A dEFA G HES fFAG 9

Tof tha] ‘TRANA dEFE A 87.5%(119%), MU S A FA AlAF

sYAEe e e, A, A, AF, 2%, 48, TP 9@ @
AR A% BE feled gt Aow Uehith<E 34>
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<E 34> F 7HA Awtgd Aol di@d =9H $Ae
. 227 HEE AA AgFstel B

T ¥ SEESSE Nelg A7E A TEH & p-value

20T 29 (90.6) 3 (9.4) 0 (0.0) 32 (100.0) 0.19885
30HH 50 (89.3) 6 (10.7) 0 (0.0) 56 (100.0)
o 40th 24 (75.0) 8 (25.0) 0 (0.0) 32 (100.0)
£ 50tH 13 (100.0) 0 (0.0) 0 (0.0) 13 (100.0)
60tH 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)
o 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)

Ad A sk 23 (88.5) 3 (11.5) 0 (0.0) 26 (100.0) 0.07748
AL 6.5 (76.5) 2 (23.5) 0 (0.0) 85  (100.0)
=713 31 (81.6) 7 (18.4) 0 (0.0) 38 (100.0)
R BATE gy 1 (33.3) 2 (66.7) 0 (0.0) 3 (100.0)
> | g 12 (100.0) 0 (0.0) 0 0.0) 12 (100.0)
- AT 105 (91.3) 1 (8.7) 0 (0.0) 115  (100.0)
< 8 (100.0) 0 (0.0) 0 (0.0) 8  (100.0)
A 25 (92.6) 2 (7.4) 0 (0.0) 27  (100.0)
75 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)

1 m]qk 12 (85.7) 2 (14.3) 0 (0.0) 14 (100.0) 0.39682
1-2d 11 (91.7) 1 (8.3) 0 (0.0) 12 (100.0)
3-4d 10 (76.9) 3 (23.1) 0 (0.0) 13 (100.0)
7 5-94d 26 (92.9) 2 (7.1) 0 (0.0) 28 (100.0)
E 10-14d 18 (85.7) 3 (14.3) 0 (0.0) 21 (100.0)
15-19d 10 (76.9) 3 (23.1) 0 (0.0) 13 (100.0)
20d o] A+ 12 (80.0) 3 (20.0) 0 (0.0) 15 (100.0)
TS5 20 (100.0) 0 (0.0) 0 (0.0) 20  (100.0)
A 119 (87.5) 17 (12.5) 0 (0.0) 136 (100.0)
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AP AHHEE o] AANS LEEFE 5 BA B Aarsloof
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<% 35> 1E&=THF T FAIH A oAF

=2 o oly e 2A p-value
e w2t 67 (65.0) 36 (35.0) 103 (100.0) | 0.016753
# o 2} 28 (87.5) 4 (125) 32 (100.0)
A A e 21 (80.8) 5 (19.2) 26 (100.0) 0.29477
A 45  (529) 4 (471 85  (100.0)
A7 H 24 (63.2) 14 (36.8) 38 (100.0)
e 1 (333 2 (66.7) 3 (100.0)
2y 7]
g e 10 (83.3) 2 167) 12 (100.0)
ATa 105 (91.3) 1 @7 115 (100.0)
e 5 (625) 3 (375 8 (100.0)
T 18 (66.7) 9 (333 27 (100.0)
& 1 (50.0) 1 (50.0) 2 (100.0)
1dm gt 11 (786) 3 (214 14 (100.0) 0.22391
1-24d 8 (66.7) 4 (333) 12 (100.0)
3-4d 10 (76.9) 3 (231 13 (100.0)
A 5-94 18 (64.3) 10 (35.7) 28 (100.0)
b 10-149 15 (711.4) 6 (286) 21 (100.0)
15-194 8 (61.5) 5 (385) 13 (100.0)
20 o] & 7 (46.7) 8 (533) 15 (100.0)
] 18 (90.0) 2 (10.0) 20 (100.0)
AA 95 (69.9) 41 (30.D) 136 (100.0)
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<E 36> 1L8=TH T FAVHA Ao dig =9F Ao
T 7 S & Wolor v g rolof 3t 7255 2 p-value
20t 21 (84.4) 5 (156) 0 00 32 (100.0) 0.77733
300 48  (85.7) 7 (125) 1 1) 56 (100.0)
o | 400 27 (84.4) 3 (9.4) 2 (63 32 (100.0)
% | 50t} 13 (100.0) 0 (0.0 0 (00 13 (100.0)
60t 15  (75.0) 05  (25.0) 0 (00 2 (100.0)
7gt 1 (100.0) 0 (0.0) 0 (0.0 1 (100.0)
72 A 8 A 21 (80.8) 5 (192 0 00 26 (100.0) 0.12411
A 85 (100.0) 0 (0.0) 0 (0.0) 85  (100.0)
=47 32 (84.2) 3 (7.9) 3 (79 38 (100.0)
| pawY 2 (66.7) 1 (333 0 (00 3 (100.0)
z | g 11 (91.7) 1 (8.3) 0 (00 12 (100.0)
A 105  (91.3) 1 (8.7) 0 00 115 (100.0)
Kl 45  (56.3) 35  (438) 0 00 8  (100.0)
TERAR 26 (96.3) 1 (3.7) 0 00 27 (100.0)
e 2 (100.0) 0 (0.0) 0 00 2 (100.0)
1dn gk 12 (8.7 2 (143) 0 (0.0 14 (100.0) 0.40839
124 11 917 1 (8.3) 0 (00 12 (100.0)
3-49d 12 (92.3) 1 (7.7) 0 00 13 (100.0)
7 | 599 24 (8.7) 4 (143) 0 00 28 (100.0)
g | 10-149 18 (8.7 2 (9.5) 1 48 21 (100.0)
15-199 9 (692 2 (154) 2 (154 13 (100.0)
200d o] % 135 (90.0) 15  (10.0) 0 00 15 (100.0)
Rl 18 (90.0) 2 (10.0) 0 00 20 (100.0)
A A 1175  (86.4) 155  (11.4) 3 (22 136 (100.0)
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25%(6%9), ‘HARA A vFow

‘HEA Y 08%(2%)o = YERGTH<E 37>

<X 37> At# Col dg gAY P A9

T B ¥ £(%)
AR Tl Al A ES A
68  (28.6)
U A= AAd Sl A w7
AR T olE 2AE HE o 7hA]
A5 AH=sr) 32 (34.5)
2ol A A fEAdS dE Tt 44 (185)
QR AR S gt 11 4.6)
B el mEaAE #A 7| B
P 6 (25)
PARA A MFORE IE=FHI
P 25 (10.5)
A gt 2 08
RE 238 (100.0)
SHAEY HuE {8, A, AHE, A, A% A, 5 s w
A A Al A", Aol wel {35k ZolE Helow A AE|
FAF it E FodtA &= Ao 2 YEYt<E 38>



<& 38> IHEHA &£4E A Col & SEAY PF A

- 86 -

T+ B 1 2 3 4 5 6 7 2 A p-value
Wt 56 (326) |58 (337) |30 (174) |6 (35 [4 (23) | 18 (105 | 0 (0.0) | 172 (100.0) | 8.99E-10
fﬁ o 2} 12 (188) |24 (375 |13 (203) |5 (78) |2 @D | 7 (109 | 1 (16) 64  (100.0)
Tl wew 0 OO |0 (0 |1 (00 [0 OO |0 0 | 0 0 | 1 (50.0) 2 (100.0)
20Th 12 (197 |23 (377) |12 (197 |4 (66 |2 (33) | 8 (13D | 0 (0.0 61  (100.0) | 1.66E-05
30th 28 (286) |31 (316) |19 (194) |5 G |3 @G | 11 412 | 1 (1.0 98  (100.0)
o | 40M 17 (327 |20 (385 |10 (192) [1 (19 |1 (19 | 3 (B8 | 0 (0.0 52 (100.0)
@ | 500 (450) |6 (3000 |1 (GO |1 GO [0 (OO | 3 150 | 0 (0.0 20 (100.0)
60Th (40.0) |2 (400) |1 (2000 |0 (00 |0 (O | 0 (00O | 0 (0.0 5 (100.0)
& 0 OO |0 (0 |1 G000 |0 OO |0 0 | 0 o | 1 (50.0) 2 (100.0)
AAAA |55 (289) |69 (363) |36 (189 |10 (B3) |3 (16 | 16 (84 | 1 (05 | 190 (100.0) | 0.000918
Az [0 00 |1 (1000) [0 (0.0 [0 0O [0 (0O | 0 (00 | 0 (0.0 1 (100.0)
A e 1 (250 |2 (B0.0) |1 (250) [0 (00) [0 (0O | 0 (0.0) | 0 (0.0 4 (100.0)
T EAEE |8 (38D |6 (286) [2 (95 |0 00 |1 @8 | 4 190 | 0 (0.0 21 (100.0)
7] e 4 2L |4 @LD |4 @LD |1 (B3 |2 105 | 4 QLD | 0 (OO 19 (100.0)
& 0 OO |0 (0 |1 3330 OO |0 (0 | 1 333 | 1 (333 3 (100.0)
A 68 (286) |82 (345) |44 (185) |11 (46) |6 (25 | 25 (105 | 2 (0.8) | 238 (100.0)
1 AR ol Al AR eSS Z2AddlE U A AFE ol Al 231t
2. AFRF7E oW =25 AT 7HA dAls] A5
3. ZEAA AH IS delent
4, o A& T &}
5 B =sAE A7 Tl Alagtt
6. bR A WFoE 1F TR Alagct
7. & A gk
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<% 39> TERNA ¢¥ T Aol i =94 #AG
T+ B Eg Aot} H =9 A o] o 2e&g Al p-value
200 14 (438) 18 (56.3) 0 (0.0 32 (100.0) | 0.749102
30 29 (518 26 (46.4) 1 (18 56 (100.0)
o1 | 40t 21 (656) 11 (344 0 (0.0 32 (100.0)
% | 50t} 8 (615 5  (385) 0 (0.0 13 (100.0)
60 05  (25.0) 15  (75.0) 0 (0.0 (100.0)
) 0 (00 1 (100.0) 0 (0.0 (100.0)
712 A 8 A 13 (50.0) 13 (50.0) 0 (0.0 26 (100.0) 053883
Abel % 5  (588) 35 (41.2) 0 (0.0 85  (100.0)
=479 20  (526) 18 (47.4) 0 (0.0 38 (100.0)
| wdueE e 1 (333) 2 (66.7) 0 (0.0 3 (100.0)
z | g 3 (250) 9 (750 0 (0.0 12 (100.0)
A4 8  (696) 35 (30.4) 0 (0.0 115 (100.0)
R 45  (56.3) 35  (43R) 0 (0.0 8 (100.0)
FTIAY 18 (66.7) 8 (296 1 @3 27 (100.0)
Tt 0 (0.0 2 (100.0) 0 (0.0 2 (100.0)
IR 7 (50.0) 7 (50.0) 0 (0.0 14 (100.0) 0.3583
1-2d 4 (333) 8 (667 0 (0.0 12 (100.0)
3-4d 9 (69.2) 4 (30.8) 0 (0.0 13 (100.0)
2 | 599 17 (60.7) 11 (39.3) 0 (0.0 28 (100.0)
2 1 10-149 8 (381 12 (57.1) 1 48 21 (100.0)
15-199 9 (69.2) 4 (308 0 (0.0 13 (100.0)
20 o] 4 105 (70.0) 45 (30.0) 0 (0.0 15 (100.0)
i 8  (40.0) 12 (60.0) 0 (0.0 20 (100.0)
A 725  (533) 625  (46.0) 107 136 (100.0)
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(2) ZH A o et At

R4

Hshs 9 AR ue wolop @rial AZsAUZL, ofUW 3
2 olol Bria AZFAUAY] AFel e SHAES W hiofo}
ST} 45.2%(61.5%), “Azbrolop dtd 48.9%(66.5%), & H 5.9%(8%)
o AZatha vehtohad 41

SHAEY vHlaE 9,

AR AT BF o84 e

oo
T O
8

6%

[Z& 41] S2A A €8 & A & vdrtsA
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<E 40> ZEANA ¢E T Xl A vHIIr5A

T B vl g rolof dhr} Z Zrolo} g} 78 Al p-value

20th 205  (64.1) 105 (328 EERY) 32 (100.0) 0577619
30t 23 (411 29  (51.8) 4 (1) 56 (100.0)
o | 40t 11 (34.4) 19  (59.4) 2 (6.3 32 (100.0)
% | 50t} 55  (423) 65  (50.0) 1 an 13 (100.0)
60th 15  (750) 05  (25.0) 0 (0.0 2 (100.0)
Tee 0 0.0) 1 (100.0) 0 (0.0 1 (100.0)

A ) A 8 A 17 (65.4) 9  (346) 0 (0.0 26 (100.0) 0.10439
A 55 (64.7) 3 (35.3) 0 (00 85  (100.0)
=471 15 (395) 21 (55.3) 2 (53 38 (100.0)
| A 2 (667 1 (333 0 (0.0 3 (100.0)
2. | digtag 8  (66.7) 4 (333) 0 (0.0 12 (100.0)
B EES 45 (39.0) 5 (435 2 (17.4) 115 (100.0)
B 35  (438) 45  (56.3) 0 (0.0 8  (100.0)
TEAR 5 (185 18 (66.7) 4 (148) 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)

1]t 8 (571 6 (429) 0 (0.0 14 (100.0) 0.18048
1-2¢ 8  (66.7) 4 (333) 0 (0.0 12 (100.0)
3-44 4 (308 8  (61.5) 1 an 13 (100.0)
7 | 59 9 (321 17 (60.7) 2 (71 28 (100.0)
2 10-149 95  (452) 85  (405) 3 (14.3) 21 (100.0)
15-19d 4 (308 8  (615) 1 @ 13 (100.0)
20 0] %4 45 (30.0) 95  (63.3) 1 67 15 (100.0)
] 145  (725) 55 (275) 0 (0.0 20 (100.0)
AA 615  (45.2) 665  (489) 8 (59 136 (100.0)
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(3) Abellell it 94 gt
FlakebE o] 2 AbdS ZRAA dEFA

T

o

Agel mme s, 4, A
3BT felhA gt A0E Uehth<E 41>

w 0fo
rr

[1% 42] 2ERACNA L Fo ok dE7F 98,
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<E 41> ZEAAA gHFFoof =7t AF

7 = o oly L ] Al p-value

20Th 20 (62.5) 12 (375) 0 (00 32 (100.0) 0.64188
30th 30 (53.6) 24 (42.9) 2 (36) 56 (100.0)
ol | 40th 18 (56.3) 14 (43.8) 0 (0.0 32 (100.0)
% | 50t} 10 (76.9) 2 (15.4) 1 1D 13 (100.0)
60Th 1 (50.0) 1 (50.0) 0 (00 2 (100.0)
& 1 (100.0) 0 (0.0) 0 (0.0 1 (100.0)

A A 54 15 (57.7) 11 (42.3) 0 (0.0 26 (100.0) 0.41832
A 55 (64.7) 3 (35.3) 0 (00 85  (100.0)
A7) 23 (60.5) 15 (39.5) 0 (0.0 38 (100.0)
R v gy 1 (33.3) 2 (66.7) 0 (00 3 (100.0)
z | g 8 (66.7) 4 (33.3) 0 (0.0 12 (100.0)
Ata 55 (47.8) 6 (52.2) 0 (0.0 115 (100.0)
=] 4 (50.0) 4 (50.0) 0 (0.0 8  (100.0)
TG 16 (59.3) 8 (29.6) 3 ALD 27 (100.0)
e 2 (100.0) 0 0.0) 0 (0.0 2 (100.0)

1dm et 9 (64.3) 5 (35.7) 0 (0.0 14 (100.0) 0.80665
1-2d 8 (66.7) 4 (33.3) 0 (0.0 12 (100.0)
3-4d 7 (53.8) 6 (46.2) 0 (0.0 13 (100.0)
A | 599 17 (60.7) 10 (35.7) 1 36 28 (100.0)
2 | 10-149 11 (52.4) 8 (38.1) 2 (95 21 (100.0)
15-19¢ 6 (46.2) 7 (53.8) 0 (00 13 (100.0)
201 o] 9 (60.0) 6 (40.0) 0 (0.0 15 (100.0)
& 13 (65.0) 7 (35.0) 0 (0.0 20 (100.0)
A 80 (58.8) 53 (39.0) 3 (22 136 (100.0)
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2) 9% Aol U AMHEY BF U AN DY
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<XE 42> 9F AZ24 ¢ A9 " =9H HF
T B =g Aot} H =9 A o] T} F& 27 p-value
20t 15 (46.9) 17 (53.1) 0 (0.0 32 (100.0) | 0.924793
30tH 22 (39.3) 31 (55.4) 3 (54 56 (100.0)
ol | 400H 11 (34.4) 19 (59.4) 2 (6.3) 32 (100.0)
4 | 500 6 (46.2) 7 (538 0 (0.0 13 (100.0)
60t 1 (50.0) 1 (50.0) 0 (0.0 (100.0)
] 0 (0.0 1 (100.0) 0 (0.0 1 (100.0)
7 A 34 12 (46.2) 14 (53.8) 0 (0.0 26 (100.0) | 0.83788
A 25  (294) 6 (70.6) 0 (0.0 85  (100.0)
=47 16 (42.1) 20  (52.6) 2 (5.3) 38 (100.0)
L | A 3 0 (0.0 3 (100.0) 0 (0.0 3 (100.0)
2 | g 4 (33.3) 8  (66.7) 0 (0.0 12 (100.0)
HEEES 25 (217 8  (69.6) 1 @& 115 (100.0)
e 4 (50.0) 4 (50.0) 0 (0.0) 8 (100.0)
TERR 13 (48.1) 12 (44.4) 2 (74 27 (100.0)
7ot 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1) gk 9 (64.3) 5 (35.7) 0 (0.0 14 (100.0) | 0.07425
1-29 6  (50.0) 6  (50.0) 0 (0.0 12 (100.0)
3-4d 3 (231 10 (76.9) 0 (0.0) 13 (100.0)
7 | 5-94 16 (57.1) 12 (429) 0 (0.0 28 (100.0)
2 | 10-149 6 (286) 12 (57.1) 3 (14.3) 21 (100.0)
15-19 4 (30.8) 8 (615 1@ 13 (100.0)
203 o] 4 3 (20.0) 11 (733) 1 67D 15 (100.0)
7ot 8  (40.0) 12 (60.0) 0 (0.0 20 (100.0)
A A 55 (40.4) 76 (55.9) 5 (37 136 (100.0)
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(2) S A g A
‘AstE 9o =AAT vHES
& Wolof grpa A7

G ool srka A zekA U7
skl 51.5%(701),

, ok Az
Fabduz12e] Aol g $HAEL

o HAbE S Hduolof
HFrolok 3} 41.2%(567), ‘F3H 7.3%(107)<
2 Azteta Gepgoh [y 44]

[28 44] 9 F AZo & Aol tfd Hd7MeA.

- 05 -



<3

43> 9 F A4 &4 A Wi v A
?.

E ldwtolol gk | R woop g} A &7 p-value
20 165  (51.6) 135  (422) 2 (63) 32 (100.0) 0.9974
30 27 (482) 24 (42.9) 5 (89) 56 (100.0)

o | 400 17 (3.1 13 (406) 2 (63) 32 (100.0)

4 | 500 75 (577 45  (346) 1 amn 13 (100.0)

60 1 (50.0) 1 (50.0) 0 (0.0 (100.0)
gt 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
A A 3 A 15 (577 11 (42.3) 0 (0.0 26 (100.0) | 0.66197
A 45 (529 4 (47.0) 0 (0.0 85  (100.0)
=47 18 (47.4) 17 (447 3 (79 38 (100.0)

RESESR L e 3 (100.0) 0 (0.0 0 (0.0 3 (100.0)

o | distayd 6  (50.0) 5 (417 1 (83 12 (100.0)

HEEES 75 (65.2) 2 (17.4) 2 (17.4) 115 (100.0)

EEd 4 (50.0) 4 (50.0) 0 (0.0 8  (100.0)
TEAR 11 (40.7) 12 (44.4) 4 (148) 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1dm 6  (429) 8 (57.1) 0 (0.0 14 (100.0) | 064514
1-29 6  (50.0) 5 417 1 (83 12 (100.0)
3-44 7 (538) 5 (385) 1@ 13 (100.0)

7 | 594 11 (39.3) 15  (536) 2 (71) 28 (100.0)

2 | 10-144 105  (50.0) 65  (31.0) 4 (19.0) 21 (100.0)
15-194 8  (615) 4 (30.8) 1 @ 13 (100.0)
20 o] 4 9  (60.0) 5 (333) 1 67 15 (100.0)
] 125  (62.5) 75  (375) 0 (0.0 20 (100.0)

e 70 (51.5) 56 (41.2) 10 (7.3 136 (100.0)
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5. Atdll E: B4 34 Z2F#A Y FH& 27¢E B¢

oAl WA Al = the 2
AHEl E. ARGS9l EE ol WAl AYdSAESAES AR Aart
U3 2okt
- A3%H] < (Vinyl Chloride) : Al @HE4, =%7|+ lppm
- SAA¥ 1 8AIZF Ht A 1.1 ppm
- AT FolA SAFAE 1 ppm PVIeR 31X & AES

glekar gkt

1) g e AR B
Al Bel A5 AsE ol®A A AU AEel el A )

PR LAEE 96%13%), WA RAEW 19.1%(26%), Al RHFA
gt 30.1%417), ‘A - FA Fe=v 39.7%((04%), F&H 1.5%(2
oz vebgth[d 45 $eAEe e s, g, 9%, A, &
&, e, FYRel U wWARY A BF foskA @t Ao v
SO <3 44>
45
40
35
F 30
o 25
5 20
o 15
10 .
=2 g oHA) HoltigE RESE
AHFE  AHFTE DHEFEL  AHED
g=0 =0

[2¥ 45] SAFA HA 87 #E 51,

- 97 -



<E 44> FAHFA HA LT & $F
(=) 1= =) o) =] = =] =
+ % AN e Lan aagg | AU AR neg 2 p-value
20t 6 (188) 8 (25.0) 10 (313 7 (219 1 @GD 32 (100.0) 0.0561
30d 4 (1D 12 (214) 13 (232) 27 (482) 0 (0.0 56 (100.0)
o1 | 40tH 1 @B 4  (125) 16 (50.0) 10 (31.3) 1 3D 32 (100.0)
| 50t 1 77 1 (17 2 (154) 9  (69.2) 0 (0.0 13 (100.0)
60th 1 (50.0) 0 (0.0 0 0.0) 1 (50.0) 0 (0.0 2 (100.0)
T&H 0 (00 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0 1 (100.0)
A A &4 4 (154 8 (30.8) 8 (308 6 (231 0 (0.0 26 (100.0) | 055757
A % 1 (118 35  (41.2) 3 (353 1 (118 0 (0.0 85  (100.0)
A7) 3 (19 5 (13.2) 13 (342 16 (42.1) 1 (26) 38 (100.0)
»Aa#
i 0 (00 1 (333 2 (66.7) 0 (0.0 0 (0.0 3 (100.0)
2| Wy
Sl gska g 1 (83 1 (83 1 (83) 9 (75.0) 0 (0.0 12 (100.0)
A4 1 (87 15  (13.0) 5  (435) 4 (34.8) 0 (0.0) | 115 (100.0)
=R 1 (125) 3 (375 2 (250 2 (25.0) 0 (0.0 8 (100.0)
TEAR 2 (714 2 (74 7 (259) 15 (55.6) 1 @37 27 (100.0)
T 0 (00 1 (500 0 (0.0) 1 (50.0) 0 (0.0 2 (100.0)
1dm) gk 1 (71D 3 (214 5 (357 5  (35.7) 0 (0.0 14 (100.0) 0.1605
1-24 2 (167 3 (25.0) 2 167 5 417 0 (0.0 12 (100.0)
3-4d 0 (00 1 (77 9 (9.2 3 (231 0 (0.0 13 (100.0)
7| 5-9¢ 2 (7D 6 (214 7 (250 13 (46.4) 0 (0.0 28 (100.0)
2 10-149 3 (14.3) 4 (19.0) 3 (14.3) 11 (524) 0 (0.0 21 (100.0)
15-19¢ 0 (00 3 (231) 6 (46.2) 3 (23D 1 (17 13 (100.0)
204 o] 4 1 67 0 (00 5  (333) 9  (60.0) 0 (0.0 15 (100.0)
T&H 4 (20.0) 6  (30.0) 4 (20.0) 5  (25.0) 1 (50 20 (100.0)
A A 13 (9.6 26 (19.1) 41 (30.1) 54 (39.7) 2 (15 | 136 (100.0)
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2) ZA71% AQE D A maely
olelgt 44 Aske A A} EE 2o RolA BuFAYe] A
Fol sl %%x}%—& Aol R wI Y 69.9%95%), ‘Ul n

’0.7%(1“3),‘ " 15%02%) o= gt UrF/P"*E‘r (29 46].
Ao HaE 98, A, 99, d¥, &% 49 2‘”‘301] o &

R w}a‘r frol gt Aol & on, AF A
, TR et = FoEkA] e Aow LJrEMERE 45>

x

W ow A
[ I ¥ R e TR ¥ 5

STHIE M)

20

15

14

5

a
=1l o B4 HolnEE RS
SHEN  aeEN 2MED IMED
eeo YED

[23F 46] 3 == SA7|8 B o7,
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<E 45> A EE A7) H0 B o

2 B Ae dFE | WA Bx | Ae BudA | Hd BIEA ey 2
B3 gt o gt geo
WAt 77 (74.8) 20 (194) 3 (2.9) 1 1.0 2 19 103 (100.0)
;ﬁ of 2} 18 (56.3) 9 (281) 5 (156) 0 (0O 0 (0.0 32 (100.0)
R 0 (00 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
20 17 (63.1) 13 (406) 2 (6.3) 0 (0.0 0 (0.0 32 (100.0)
30t 47 (83.9) 5 (89 4 (7.1) 0 (0.0 0 (0.0 56 (100.0)
o1 | 40t 20 (62.5) 9 (28.1) 2 6.3) 0 (00 1 @D 32 (100.0)
2 | 500 10 (76.9) 2 (154) 0 0.0) 0 (00 1 @D 13 (100.0)
60ch 1 (50.0) 0 00 0 0.0) 1 (50.0) 0 (0.0 2 (100.0)
& 0 0.0 0 00 1 (100.0) 0 (00 0 (0.0 1 (100.0)
1wt 5 (37 8 (B57.1) 1 (7.1 0 (00 0 (0.0 14 (100.0)
1-2d 11 (91D 1 @83 0 0.0) 0 (0.0 0 (0.0 12 (100.0)
34 10 (76.9) 2 (154) 1 (7.7) 0 (0O 0 (0.0 13 (100.0)
7 | 594 25 (89.3) 2 (1D 1 (3.6) 0 (0.0 0 (0.0 28 (100.0)
=] 10-144 19 (9.5 0 (0 2 (9.5) 0 (0.0 0 (0.0 21 (100.0)
15-194 7 (53.8) 5 (385) 0 0.0) 0 (00 1 @D 13 (100.0)
20 o] % 10 (66.7) 2 (133) 1 6.7) 1 ®7 1 67 15 (100.0)
R 8 (40.0) 9 (45.0) 3 (150 0 (0.0 0 (0.0 20 (100.0)
A 9% (69.9) 29 (21.3) 9 (6.6) 1 0.7 2 15 136 (100.0)
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<E 46> SAA TR T A%
T+ B 9% TY3A &= T 2 A p-value
20tH 95 (297 225 (70.3) 0 (0.0 32 (100.0) 0.07
30dH 12 (21.4) 41 (732) 3 (54) 56 (100.0)
o | 40t 4 (125) 25 (78.1) 3 (94) 32 (100.0)
4 | 500 3 (23.1) 8 (615 2 (154) 13 (100.0)
60tH 2 (100.0) 0 (0.0 0 (0.0 (100.0)
] 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
<) A 8h A 8 (308 18 (69.2) 0 (0.0 26 (100.0) | 0.82767
Al 3 (353) 55 (647 0 (0.0 85  (100.0)
=47 7 (184) 28 (73.7) 3 (79 38 (100.0)
L | BARy g 0 (0.0 2 (66.7) 1 (333 3 (100.0)
2 | g 2 (167) 9  (75.0) 1 (83 12 (100.0)
HEEES 2 (17.4) 85  (73.9) 1 @87 115 (100.0)
9l 2 (25.0) 6 (750 0 (0.0 8  (100.0)
TR 65  (24.1) 185  (685) 2 (74 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1o wk 5 (357 9  (64.3) 0 (0.0 14 (100.0) | 0.04943
1-2d 3 (25.0) 9  (75.0) 0 (0.0 12 (100.0)
3-4 1 @D 12 (923) 0 (0.0 13 (100.0)
7| 5-94 7 (250) 20  (71.4) 1 (36) 28 (100.0)
2 | 10-144 5 (238) 14 (66.7) 2 (95) 21 (100.0)
15-194 2 (154 7 (538 4 (30.8) 13 (100.0)
201 o] 4 2 (13.3) 12 (80.0) 1 6D 15 (100.0)
gt 65 (325 135 (675) 0 (0.0 20 (100.0)
A A 315 (23.2) 965  (71.0) 8 (59 136 (100.0)
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<E 47> A9 97 FE Fo a%

T 7 9% FY3A F& Fsg LY | p-value

20th 215 (67.2) 105 (32.8) 0 (0.0) 32 (100.0) 0.04767
30t 41 (73.2) 13 (23.2) 2 (3.6) 56 (100.0)
o 40ty 175 (54.7) 125 (39.1) 2 (6.3) 32 (100.0)
e 50th 4 (30.8) 7 (53.8) 2 (15.4) 13 (100.0)
60Th 0 (0.0) 2 (100.0) 0 (0.0) 2 (100.0)
T 0 (0.0) 1 (100.0) 0 (0.0) 1 (100.0)

AL A A 16 (61.5) 10 (38.5) 0 (0.0) 26 (100.0) 0.4916
A 6.5 (76.5) 2 (235) 0 (0.0 85  (100.0)
=471 285 (75.0) 75 (19.7) 2 (5.3) 38 (100.0)
2A%E g 2 (66.7) 1 (33.3) 0 (0.0) 3 (100.0)
A% | ggay 7 (58.3) 4 (33.3) 1 (8.3) 12 (100.0)
AF4 75 (65.2) 3 (26.1) 1 (8.7) 115 (100.0)
Ha 5 (62.5) 3 (37.5) 0 (0.0) 8 (100.0)
T 115 (42.6) 135 (50.0) 2 (7.4) 27 (100.0)
T 0 (0.0) 2 (100.0) 0 (0.0) 2 (100.0)

1d v Rk 9 (64.3) 5] (35.7) 0 (0.0) 14 (100.0) 0.01028
124 9 (75.0) 3 (25.0) 0 (0.0) 12 (100.0)
3-4d 10 (76.9) 3 (23.1) 0 (0.0) 13 (100.0)
e 5-9d 20 (71.4) 8 (28.6) 0 (0.0) 28 (100.0)
71 10-14 15 (71.4) 4 (19.0) 2 (9.5 21 (100.0)
15-194d 6.5 (50.0) 35 (26.9) 3 (23.1) 13 (100.0)
20 d o] 4 (26.7) 10 (66.7) 1 (6.7) 15 (100.0)
TeH 10.5 (52.5) 9.5 (47.5) 0 (0.0) 20 (100.0)
A 84 (61.8) 46 (33.8) 6 (4.4) 136 (100.0)
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(3) 54 A=A gl g =Y
SR AR/ 2 ol A FAATHT £G4 27T S @l

el ool E W T21%(98), FeIEHA %L 21.3%(20%), F3H
6.62(9%) 0.2 vhEbkeh[ 1Y 49].

o

SHASY wus g, 4Y, A, AF, 2%, 4, FYR 4 ®w
AR A3 Aw, AF FATOl wet G019 Aol vhebuiom, 4w,
a%, A st felaix 2t Aow Vet <E 48>

[ EColBR ¥E

[ 29

[ solz

g ag |
72%

[Z3 49] 2Xd A=/ ERAMY SHA =84 879 39 o5
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<E 48> ZRE AZE/A2"AME AR =YY 279 F9 oAF

T B 9% FY3A & ] 2A p-value
20tH 26 (81.3) 6 (188 0 (0.0 32 (100.0) 0.00431
30tH 43 (76.8) 8  (14.3) 5 (89 56 (100.0)
012 40tH 25 (781) 5 (156 2 (63) 32 (100.0)
50th 3 (231 8  (61.5) 2 (154) 13 (100.0)
60tH 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
] 0 (0.0) 1 (100.0) 0 (0.0 1 (100.0)
R 84  (785) 15 (14.0) 8 (75) 107 (100.0) 0.00116
Az 1 (100.0) 0 (0.0) 0 0.0 1 (100.0)
. Ak ol st 2 (667) 1 (333) 0 (0.0 3 (100.0)
T A Ek 8 (615 5 (385 0 (0.0 13 (100.0)
7] e} 3 (30.0) 7 (70.0) 0 (0.0 10 (100.0)
e 0 (0.0) 1 (50.0) 1 (50.0) 2 (100.0)
=3 48 (89.2) 4.3 (8.0) 15 (28 538  (100.0) 0.000881
o) 3y 3 (75.0) 0 (0.0) 1 (250) 4 (100.0)
Az 13 47.1) 1 (353 05 (176 2.8 (100.0)
AT 248  (67.4) 8 (2.7 4 (109 36.8  (100.0)
f’j_"‘j A7 /A 5 (857 08 (143 0 (00 58 (100.0)
AF) g2 25  (283) 63 (717 0 (0.0 88  (100.0)
s 53  (542) 35  (356) 1 (102 9.8  (100.0)
71 e} 0 (0.0) 3 (75.0) 1 (250) 4 (100.0)
74t 8  (80.0) 2 (200 0 (0.0 10 (100.0)
A A 98 (72.1) 29 (21.3) 9  (6.6) 136 (100.0)
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(4) SATA ¥4 g &=
‘w}a‘rﬁ, A FAE AL Ao wwd 4 gy oA
of T3 254%(345%), ‘“FJskA  &e 621%845%), F&H
125%(178)2.2 etk 50].
SHAES HaEs 9, A, A8, AF, &%
A A 49 l whel frof gk 2o 7t vl on,
o oA 2= Aoz YEhgth <#E 49>

_%L_ml

sog
345
25%

|
“- SolsiA 28

\ 845 4

62% 7
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/AN
P
=
[{o]
vV
u\]
oxl
4
2
oN.
offt
Lo
£
e

T 2 9% FY3A F& 2L 2 A p-value

20TH 85 (26.6) 225 (70.3) 1 @D 32 (100.0) 0.32993
30Th 18 (32.1) 31 (55.4) 7 (125 56 (100.0)
1oy | 40U 6 (18.8) 21 (65.6) 5 (156) 32 (100.0)
= 1 500 1 (7.7) 8 (61.5) 4 (308 13 (100.0)
60TH 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
FeH 0 (0.0) 1 (100.0) 0 (0.0 1 (100.0)

A Y A 8t A 6 (23.1) 20 (76.9) 0 (0.0 26 (100.0) 0.4299
A 3 (35.3) 45 (52.9) 1 (118 85  (100.0)
A7) 12 (31.6) 22 (57.9) 4 (105 38 (100.0)
v g 1 (33.3) 2 (66.7) 0 (0.0 3 (100.0)
2% | digtad 0 (0.0) 10 (83.3) 2 (167) 12 (100.0)
Ata 3 (26.1) 55 (47.8) 3 (26.1) 115 (100.0)
=] 3 (375) 4 (50.0) 1 (125) 8  (100.0)
TR 6.5 (24.1) 145 (53.7) 6 (22.2) 27 (100.0)
e 0 (0.0) 2 (100.0) 0 (0.0 2 (100.0)

1dw Rk 4 (28.6) 10 (71.4) 0 (0.0 14 (100.0) 0.03663
1-2¢d 1 (8.3) 10 (83.3) 1 (83 12 (100.0)
3-4d 2 (15.4) 10 (76.9) 1 @D 13 (100.0)
L | 579 10 (35.7) 14 (50.0) 4 (14.3) 28 (100.0)
7 10-149 10 (47.6) 9 (42.9) 2 (95 21 (100.0)
15-19¢ 1 1.1 7 (53.8) 5 (385) 13 (100.0)
206 o] 4 3 (20.0) 9 (60.0) 3 (200 15 (100.0)
& 35 (17.5) 155 (775) 1 (50 20 (100.0)
A A 345 (25.4) 84.5 (62.1) 17 (125) 136 (100.0)
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(5) AbEF Bl of

‘PUHoE AYFE ZHANE 1A Gow Bolde YT 5 gon
2 aAgs #4942 & otk £AF nALHD i AYFE w4

How vHdd F v ool ‘T3 29.8%(40.5%), “&olsHA] F&

e At 4

o felaA 2

®
$HAEe] MaE A, YU, 93
= F

40
= 0o

| M — .'I

| LR EE e/

' 885
65% 4

[Z3 51] AFE =5 vide] &9 A7,
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<E 50> ALY F M| T oAF

T B % FYA & ] 2A p-value

20h 115 (35.9) 205 (64.1) 0 (0.0) 32 (100.0) 0.44147
30 16 (28.6) 38 (67.9) 2 (3.6) 56 (100.0)
o 40ty 9 (28.1) 20 (62.5) 3 (9.4) 32 (100.0)
e 50t 2 (15.4) 9 (69.2) 2 (15.4) 13 (100.0)
60Th 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
T 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)

A A A gAY 7 (26.9) 19 (73.1) 0 (0.0) 26 (100.0) 0.69596
AH§d 7 45 (52.9) 4 (47.1) 0 (00 85  (100.0)
4718 14 (36.8) 21 (55.3) 3 (7.9 38 (100.0)
2A%E g 1 (33.3) 2 (66.7) 0 (0.0) 3 (100.0)
A% | ggay (16.7) 8 (66.7) 2 (16.7) 12 (100.0)
Ada 15 (13.0) 9 (78.3) 1 (8.7) 115 (100.0)
Ha 2 (25.0) 6 (75.0) 0 (0.0) 8 (100.0)
TN 75 (27.8) 185 (68.5) 1 (3.7 27 (100.0)
] 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)

1d v sk 5) (35.7) 9 (64.3) 0 (0.0) 14 (100.0) 0.04045
1-2d 4 (33.3) 8 (66.7) 0 (0.0) 12 (100.0)
3-4d 4 (30.8) 9 (69.2) 0 (0.0) 13 (100.0)
. 5-9d 10 (35.7) 18 (64.3) 0 (0.0) 28 (100.0)
°7 1 10-14 5 (23.8) 15 (71.4) 1 (4.8) 21 (100.0)
15-19d 4 (30.8) 5 (38.5) 4 (30.8) 13 (100.0)
20 o] 7 2 (13.3) 12 (80.0) 1 (6.7) 15 (100.0)
TeH 6.5 (32.5) 125 (62.5) 1 (5.0) 20 (100.0)
A 40.5 (29.8) 885 (65.1) 7 B.1) 136 (100.0)
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(6) =4 Ate)
w3t o] ) 2k T oo el
F 7720%(105%), FlEA @S 169%(23%), ‘FSH 59% (8W)o.%
epskeh 29 521
gHAEe Mg A, 4 ,
VA 29 25 foHA B ASE ehh<E 51>

o r&
k1
A
o2
2
y
)
N
rlr
m
r‘O
g

IUE
o
o

S2SHR| 5
23
17%

| 105 |
! 77%

e
*,
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<X 51> SAXA W4 £/ ¥4 oF

T 2 9% FY3A F& 2L 2 A p-value
20th 26 (81.3) 6 (18.8) 0 (0.0) 32 (100.0) 0.3348

30 45 (80.4) 8 (14.3) 3 (5.4) 56 (100.0)
. 40ty 24 (75.0) 6 (18.8) 2 (6.3) 32 (100.0)
e 50t 8 (61.5) 2 (15.4) 3 (23.1) 13 (100.0)
60Th 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
T 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)

AL A A 22 (84.6) 4 (15.4) 0 (0.0) 26 (100.0) 0.71626
AH§d 7 6 (70.6) 2 (23.5) 05 (59 85  (100.0)
=471 31 (81.6) 5 (13.2) 2 (5.3) 38 (100.0)
2A%E g 2 (66.7) 0 (0.0) 1 (33.3) 3 (100.0)
A% | ggay 10 (83.3) 1 (8.3) 1 (8.3) 12 (100.0)
ATa 8 (69.6) 3 (26.1) 0.5 (4.3) 115 (100.0)
Ha 4 (50.0) 3 (37.5) 1 (12.5) 8 (100.0)
T 20 (74.1) 5 (185) 2 (7.4) 27 (100.0)
] 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)

1d v Rk 13 (92.9) 1 (7.1) 0 (0.0) 14 (100.0) 0.39327
124 9 (75.0) 3 (25.0) 0 (0.0) 12 (100.0)
3-4d 11 (84.6) 2 (15.4) 0 (0.0) 13 (100.0)
o 5-9d 24 (85.7) 2 (7.1) 2 (7.1 28 (100.0)
7 10-149 15 (71.4) 5 (23.8) 1 (4.8) 21 (100.0)
15-194d 7 (53.8) 3 (23.1) 3 (23.1) 13 (100.0)
20 o] 7 11 (73.3) 3 (20.0) 1 (6.7) 15 (100.0)
TeH 15 (75.0) 4 (20.0) 1 (5.0) 20 (100.0)
A 105 (77.2) 23 (16.9) 8 (5.9 136 (100.0)
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6. AHel F: AHH &4 AR 29E 278 B¢

ol 5l WA Atele ohe3 2ok

AHEL F. AR T 9 E & ol ALl AR S AAlsta v A4

H}7F w3 2ok

- 2td] 5] = (Formaldehyde)) : Al WHelE-=

71+ 0.5 ppm

S84% 0 S84 521 @A 7 F i A])
718+ 0.1 ppm (B9 0.005 ~ 0.32 ppm)
7]

o] Z2HAZ HuAd A HW 27t W3 Eols o
e 3 %
af

AAS B A &

D F8A e
REERES

ASAAE oG SAAATUATY ARl his] B
of ek 2439%(331), kel srlsitietE BAhX BuAel LA
o 74.3%(1017%) o2 UEyth<Et 52> SHAESY HaE 9a, A,
A%, AT, ad, Y, FYT B wARY A3 BF folsA g

Aoz etk <& 53>

<E 52> FELHIE E3oAR

T % W =(%)
B o] W 33 (24.3)
Aeko] dr)H e Bae] ZA Itk 101 (74.3)
k] 2 (15)

24 136 (100.0)
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<% 53> &4

A AR

[} Ayl )
% waAd Mt | Ao FARRE B3 2 p-value
20h 13 (406) 19 59.4) 0 (00 32 (100.0) 0.31015
30ty 12 (21.4) 43 (76.8) 1 1.8) 56 (100.0)
o | 40t 5 (15.6) 27 (84.4) 0 (00 32 (100.0)
3 | 500 3 (23.1) 9 (69.2) 1 (7.7) 13 (100.0)
60tH 0 0.0) 2 (100.0) 0 (0.0 2 (100.0)
7o 0 0.0) 1 (100.0) 0 (00 1 (100.0)
A 2 34 11 (42.3) 15 G7.7) 0 (00 26 (100.0) 0.18579
A % 35 (41.2) 5 (58.8) 0 0.0) 85 (100.0)
=479 5 (132) 33 (86.8) 0 (00 38 (100.0)
»Aa#
g 0 0.0) 3 (100.0) 0 (0.0 3 (100.0)
& gty 4 (33.3) 7 (58.3) 1 (8.3) 12 (100.0)
AT 2 45 (39.1) 7 (60.9) 0 (00 115  (100.0)
b 2 (25.0) 6 (75.0) 0 (00 8 (100.0)
TEAR 3 (11.1) 23 (85.2) 1 (3.7) 27 (100.0)
7ot 0 0.0) 2 (100.0) 0 (00 2 (100.0)
IGELG 4 (236) 10 (71.4) 0 (00 4 (100.0) 0.23253
1-24 5 (417) 7 (58.3) 0 (00 12 (100.0)
3-4 3 (23.1) 10 (76.9) 0 (00 13 (100.0)
A | 5-94 7 (25.0) 921 (75.0) 0 (00 28 (100.0)
2 | 10-149 9 95) 18 (85.7) 1 (48) 21 (100.0)
15-19¢ 2 (15.4) 1 (84.6) 0 (00 13 (100.0)
201 o] 4 1 6.7) 13 (86.7) 1 6.7) 15 (100.0)
7o 9 (45.0) 11 (55.0) 0 (00 20 (100.0)
A A 33 (24.3) 101 (74.3) 9 (15) 136 (100.0)
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2) 7o) hd B o}
(1) AgFel &
AEERCE ‘Amﬁﬂ g F AolnE, AYFIE aFHE g F

= o] Brpel ol 7e] Fel 154%219), “FolakA 88 78%(107%),

SR 59%(8W) 0 ebstel (19 53]

O s CINEESCE R

= A A=, A _/,\_5_'1 )
AR Av BF fo8A g A0 UEhgth<E 54>

oy, o,

O
—~
¢

bY
-~ f" 3 .l'
| 4
IIII |II
| |
| |
\ SLITHE| EE ,"I
Y 107
| 79% 7
~ s

[2% 53] AHEF &7 dE T oA,
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<E 54> A F 87 digt T A%
7 B 593 593 F& 55 Al p-value
20tH 7 (219 25 (78.1) 0 (0.0 32 (100.0) 0.27082
30t 8  (14.3) 4 (786) 4 (71 56 (100.0)
o | 40th 2 (6.3) 27 (84.4) 3 (94 32 (100.0)
% | 50t} 3 (23D 9 (692 1 @D 13 (100.0)
60t 0 (0.0) 2 (100.0) 0 (0.0 2 (100.0)
] 1 (100.0) 0 (0.0) 0 (0.0 1 (100.0)
A A 3 8 (308 18 (69.2) 0 (0.0 26 (100.0) 0.58548
A 1 (11.8) 75 (88.2) 0 (00 85  (100.0)
4N 5 (132 30 (789) 3 (79 38 (100.0)
R BARe ) 0 (0.0) 3 (100.0) 0 (0.0 3 (100.0)
2 | gty 1 (8.3) 9 (75.0) 2 (167) 12 (100.0)
A 1 (8.7) 95  (826) 1 @87 115 (100.0)
9 1 125 6  (75.0) 1 125 8  (100.0)
TEAN 3 (11D 23 (85.2) 1 37 27 (100.0)
7o 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
1d o gk 2 (143) 12 (85.7) 0 (0.0 14 (100.0) 0.12094
1-24 2 (167 10 (83.3) 0 (0.0 12 (100.0)
3-40d 1 (7.7) 12 (923) 0 (0.0 13 (100.0)
7 | 594 6 (21.4) 21 (750) 1 (36 28 (100.0)
2| 10-149 1 (4.8) 18 (85.7) 2 (95) 21 (100.0)
15-199 1 (7.7 9  (69.2) 3 (23D 13 (100.0)
201 o] A 1 6.7) 13 (86.7) 1 67 15 (100.0)
] 7 (35.0) 12 (60.0) 1 50 20 (100.0)
A A 21 (154 107 (787) 8 (59 136 (100.0)
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ol 71+l 1/59

4.4%(6%) 2.

(mL oty
o H

= 79.4%(108%),

ok
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EleA

" 16.2%(227),

3
=

9
2 YErstth [ E 54

E

090>

3
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Aoz YEyH.<

1
o

ol
T

3} A]

= 2otx
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o BnuA AL o ¥
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<E 55> XE4U3|=9 HuX A T A%

T 7 9% FY3A F& 2L 2 A p-value

20h 8 (25.0) 24 (75.0) 0 (0.0) 32 (100.0) 0.88902
30t 7 (12.5) 46 (82.1) 3 (5.4) 56 (100.0)
. 40ty 5 (15.6) 25 (78.1) 2 (6.3) 32 (100.0)
e 50th 2 (15.4) 10 (76.9) 1 (7.7) 13 (100.0)
60Th 0 (0.0) 2 (100.0) 0 (0.0) 2 (100.0)
T 0 (0.0) 1 (100.0) 0 (0.0) 1 (100.0)

A A A gAY 6 (23.1) 20 (76.9) 0 (0.0) 26 (100.0) 0.56202
A 35 (41.2) 5 (58.8) 0 (0.0 85  (100.0)
4718 4 (10.5) 32 (84.2) 2 (5.3) 38 (100.0)
2A%E g 0 (0.0) 3 (100.0) 0 (0.0) 3 (100.0)
A% | ggay 2 (16.7) 8 (66.7) 2 (16.7) 12 (100.0)
AT4 2.5 (21.7) 8 (69.6) 1 (8.7) 115 (100.0)
Ha 1 (12.5) 7 (87.5) 0 (0.0) 8 (100.0)
TN 3 (11.1) 23 (85.2) 1 (3.7) 27 (100.0)
] 0 (0.0) 2 (100.0) 0 (0.0) 2 (100.0)

1d v sk 2 (14.3) 12 (85.7) 0 (0.0) 14 (100.0) 0.37219
1-2d 3 (25.0) 9 (75.0) 0 (0.0) 12 (100.0)
3-4d 3 (23.1) 10 (76.9) 0 (0.0) 13 (100.0)
. 5-9d 6 (21.4) 22 (78.6) 0 (0.0) 28 (100.0)
°7 1 10-14 0 (0.0) 19 (90.5) 2 (9.5) 21 (100.0)
15-19d 1 (7.7) 10 (76.9) 2 (15.4) 13 (100.0)
20 d o] 2 (13.3) 12 (80.0) 1 (6.7) 15 (100.0)
TeH 5 (25.0) 14 (70.0) 1 (5.0) 20 (100.0)
A 22 (16.2) 108 (79.4) 6 (4.4) 136 (100.0)
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Aol 7=

o=

DK

‘X
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o SAAETL HER AFY9A

==
[e)

o, Ak AR
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;1%_1_,_010
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el
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file)

HA %5 22.1%(307), & H

S

o] Aol “Folgt 73.5%(100%), 52

44%(6%8) .2 YEytth [ 17 55l
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Ao e
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<E 56> A#FAolL FAHAT HIAN FAF T q4F

T 2 9% FY3A F& 2L 2 A p-value

20th 23 (71.9) 9 (28.1) 0 (0.0) 32 (100.0) 0.88317
30t 41 (73.2) 12 (21.4) 3 (5.4) 56 (100.0)
. 40ty 25 (78.1) 5 (15.6) 2 (6.3) 32 (100.0)
e 50th 8 (61.5) 4 (30.8) 1 (7.7) 13 (100.0)
60Th (100.0) 0 (0.0) 0 (0.0) 2 (100.0)
T 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)

AL A A 18 (69.2) 8 (30.8) 0 (0.0) 26 (100.0) 0.35769
A 5 (58.8) 35 (41.2) 0 (0.0 85  (100.0)
=471 28 (73.7) 8 (21.1) 2 (5.3) 38 (100.0)
2A%E g 3 (100.0) 0 (0.0) 0 (0.0) 3 (100.0)
A% | ggay (75.0) 1 (8.3) 2 (16.7) 12 (100.0)
AF4 10 (87.0) 0.5 (4.3) 1 (8.7) 115 (100.0)
Ha 4 (50.0) 3 (37.5) 1 (12.5) 8 (100.0)
T 21 (77.8) 6 (22.2) 0 (0.0) 27 (100.0)
T 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)

1d v Rk 10 (71.4) 4 (28.6) 0 (0.0) 14 (100.0) 0.53573
124 11 (91.7) 1 (8.3) 0 (0.0) 12 (100.0)
3-4d 6 (46.2) 7 (53.8) 0 (0.0) 13 (100.0)
e 5-9d 20 (71.4) 6 (21.4) 2 (7.1) 28 (100.0)
71 10-14 16 (76.2) 4 (19.0) 1 (4.8) 21 (100.0)
15-194d 10 (76.9) 2 (15.4) 1 (7.7) 13 (100.0)
20 d o] 12 (80.0) 2 (13.3) 1 (6.7) 15 (100.0)
TeH 15 (75.0) 4 (20.0) 1 (5.0) 20 (100.0)
A 100 (73.5) 30 (22.1) 6 (4.4) 136 (100.0)

- 120 -



=2 sk WEA PSS ke Abgo]l Eolde FEaH FuUE

dojd olfrt gluel Aol “sold 38.22%(52%)

55.1%(757), ‘8 H 6.6%(9%) o2 etk [17 56].

SHAES HuE f8), 4, A9, A, A% dE, FA5el i
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felo 2 HeR UEth<E 57>
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" 38% !

| semxigs O\
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h 55% “-\\ 7
(27 56] HAAAALL Bololg 5 Bad Avke T3
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<E 57> APAABAZE Bl e AT o F e FF A TAAR

T 7 9% FY3A F& 2L 2 A p-value

20h 15 (46.9) 17 (63.1) 0 (0.0) 32 (100.0) 0.59927
30t 24 (42.9) 28 (50.0) 4 (7.1) 56 (100.0)
. 40ty 9 (28.1) 19 (59.4) 4 (12.5) 32 (100.0)
e 50th 3 (23.1) 9 (69.2) 1 (7.7) 13 (100.0)
60Th 1 (50.0) 1 (50.0) 0 (0.0) 2 (100.0)
T 0 (0.0) 1 (100.0) 0 (0.0) 1 (100.0)

A A A gAY 9 (34.6) 17 (65.4) 0 (0.0) 26 (100.0) 0.3934

A 35 (41.2) 5 (58.8) 0 (0.0 85  (100.0)
4718 17 (44.7) 17 (44.7) 4 (10.5) 38 (100.0)
2A%E g 1 (33.3) 2 (66.7) 0 (0.0) 3 (100.0)
A% | ggay 2 (16.7) 8 (66.7) 2 (16.7) 12 (100.0)
AT4 6.5 (56.5) 4 (34.8) 1 (8.7) 115 (100.0)
Ha 5 (62.5) 2 (25.0) 1 (12.5) 8 (100.0)
TN 8 (29.6) 18 (66.7) 1 (3.7) 27 (100.0)
] 0 (0.0) 2 (100.0) 0 (0.0) 2 (100.0)

1d v sk 6 (42.9) 8 (57.1) 0 (0.0) 14 (100.0) 0.31425
1-2d 7 (58.3) 5 (41.7) 0 (0.0) 12 (100.0)
3-4d 5 (38.5) 8 (61.5) 0 (0.0) 13 (100.0)
. 5-9d 13 (46.4) 13 (46.4) 2 (7.1) 28 (100.0)
°7 1 10-14 9 (42.9) 10 (47.6) 2 (9.5) 21 (100.0)
15-19d 1 (7.7) 9 (69.2) 3 (23.1) 13 (100.0)
20 d o] 4 (26.7) 10 (66.7) 1 (6.7) 15 (100.0)
TeH 7 (35.0) 12 (60.0) 1 (5.0) 20 (100.0)
A 52 (38.2) B (55.2) 9 (6.6) 136 (100.0)
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qe WA S, Adgeletn FYse TREATT A
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&
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S8 94 ATACEE B P A BE
S 148t @ A3 <E 58> ol

WA+ Hg 2RAdA BE deFe o AASEA 69%(82%) 2
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<E 58> 93 $4cd

. 19 | 29 | sed | o A A
- (3%) 23) 1) = (AFx$EF)
L
Az A 27 (245) | 48 (436) | 35 (31.8) | 110 (100) 212
PAR -
HAT 2224 7 (73) |30 (313) |59 615 | 9% (100 140
A= A
2 + 2 L2 A
o o 82 (689 |26 218 |11 92 | 119 (100) 309
on ol2g AL
o ol A 11 314) |16 457 |8 (229 |35  (100) 73
FNE= A
ol9} 9 3Ake)
Wale we amse o |7 GY[0 00 |6 @62 |13 0 27
ot 2 G716 B |17 @86) |3 (100) 55
A7) 136 136 136 408 816
O 2 LCF
T O =
3
2%
/ HEohR| 2ok
f 34
25%
e mgeint
Qg
T3%
[Z29 57] €813 FF9 AGAH g ddoA
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<% 59> &84 Pz AZA I AFgA

T B A g sttt A3sA & TS 2 A p-value
w2 76 (738 27 (262 0 (0.0 103 (100.0) 0.0346
;:; o] 2} 22 (638) 7 (219 3 (94 32 (100.0)
g 1 (100.0) 0 (0.0 0 (0.0 1 (100.0)
201 7 (72.0) 28 (262) 2 (19 107 (100.0) 9.47E-07
300 0 (0.0 0 (0.0 1 (100.0) 1 (100.0)
A | 400 3 (100.0) 0 (0.0 0 (0.0 3 (100.0)
| 500 10 (76.9) 3 (230 0 (0.0 13 (100.0)
60t 7 (70.0) 3 (30.0) 0 (0.0 10 (100.0)
T (100.0) 0 (0.0 0 0.0) 2 (100.0)
A4 A 8 20 (76.9) 5 (192 1 (38 26 (100.0) 0.78958
Al 65 (765 2 (235) 0 (0.0 85  (100.0)
=R 79 26 (634) 12 (316 0 (0.0 38 (100.0)
Bz
) 3 (100.0) 0 (0.0 0 (0.0 3 (100.0)
2| )
| gty 10 (833) 2 (167 0 0.0 12 (100.0)
A2 65 (565 5  (435) 0 (0.0 115 (100.0)
9 6  (75.0) 2 (25.0) 0 (0.0 8 (100.0)
TFAR 20 (74.1) 5  (185) 2 (74 27 (100.0)
T 1 (500 1 (500 0 (0.0 2 (100.0)
A 99  (72.8) 34 (250 322 136 (100.0)
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<E 61> S9A £A44d /A9 &34 Pzoz2 FIF FA A9 VU=
= AFEE o2t A9 W3 238 EAE = o
T f48 2 | AFL A | YL A | AgAAA LA | o & p-value
20h 9 (81)| 14 438 ]| 7 (219 1 3GD 1 (31 | 32 (1000) | 03903
30t) 1 (96) | 20 (3B | 22 (393) 1 (1.8) 2 (36) | 56 (100.0)
o | 400 11 (344) | 10 (313 | 8 (250 3 (94) 0 (00 | 32 (100.0)
3 | 5004 6 (462) 7 G38) | 0 (00 0 (00 0 (00 | 13 (100.0)
60tH 1 (500) 0 00 1 (500 0 00 0 (0.0 2 (100.0)
7o 0 (0.0 0 (0.0 1 (100.0) 0 (00 0 (0.0 1 (100.0)
A 2 34 8 (308) | 11 423 | 5 (192 1 (38) 1 (38 | 26 (100.0) | 0.27065
A % 35 (41.2) 1 (118 2 (235) 2 (235) 0 (0.0 85 (100.0)
=479 9 37| 14 (368 | 13 (342 2 (53 0 (00) | 38 (100.0)
E?‘ %) 1 (333) 2 667 | 0 (0.0 0 (00 0 (0.0 3 (100.0)
ESR = A
| gretag 1 (83) 6 (500) | 5 (4L7) 0 (0.0) 0 (0.0 12 (100.0)
AT 2 15 (13.0) 5 435 | 4 (348 0 (00 1 @7 | 115 (100.0)
b 2 (250) 2 250 | 4 500 0 (00 0 (0.0 8 (100.0)
TEAR 12 444) | 10 (3700 | 4 (148) 0 (00 1 37| 27 (100.0)
7ot 0 00 0 00 | 2 1000 0 (00 0 (0.0 2 (100.0)
IGELG 6 (429 5 3B | 2 (143 0 (00 1 (71) | 14 (100.0) | 048142
1-24d 0 (0.0 7 G83) | 5 @1 0 (00 0 00 | 12 (100.0)
3-4 2 (154) 5 (385 | 4 (308 1 7.7 1 @7 | 13 (100.0)
A | 5-94 7 (250 | 11 (393) | 10 (357 0 (00 0 (00) | 28 (100.0)
2 | 10-149 6 (286) 6 (286) | 8 (381 0 (00 1 @48 | 21 (100.0)
15-194 5 (385) 4 308 | 2 (154 2 (154 0 (00| 13 (100.0)
201 o] 4 4 (267 6 400) | 4 (267 1 6.7) 0 00 | 15 (100.0)
7o 8 (40.0) 7 350 | 4 (200 1 (5.0) 0 (00) | 20 (100.0)
A A 38 (279 | 51 (375 | 39 (287) 5 (37 3 (22 | 136 (100.0)
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BT A ZFUIN? AR Aas] FAA L.

9 Aol V7ol Ak WS mEW 71%(14%), o 5 glo] &
58] BAbe] RS mET 168%(339), ‘TLEANA dE = S IA
of Aoty 52%(1029), ‘&l dA ITEAAA dEEH 51%(107),
= HAE FERAANA e 36%((79), ‘el A, HA FEAR
A ZFolA dEErt 97%(19%), ‘ol ARde o Fe FUfIH
51%(107), ‘F&H 05%(1W)ez Ye ‘T2 A 4 = S 3
Abell A olgtt ek ool 7HE = A YEEth<EE 62>

cHAEe] s 96, A, A%, A, &%, AY, FEFel i w

A2 A3 BF fofshA e Aoz et < 63>

<E 62> A} WAl B LHAY LA

T % % (%)
7ol BAte] W e wEo) 14 (7.1)
o flol BR3 Al WP weo 33 (16.8)
cRAeA 2 % AL SAbel Aot 102 (52.0)
e @4 e ¢ £ 10 6.1
2o H48 22 ey 7 (36)
= d37, 54 2o A Bl A &E =tk 19 (9.7)
ol g AMLG 9| Fel B} 10 (1)
& 1 (0.5

A A 196 (100.0)
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<X 63> &RA SAE A BH dHF SEAL HeIA

7 B 1 2 3 4 5 6 7 neg 27
200 103 | 7 (2D | 2 @0 | 473 | 365 9 @D | 50D | I 18] 5 (1000
30t 7 93 | 12 160) | 39 G200 | 3 @0 | 2 @n| 8 G0 | 4 G3 | 0 00| 7 (1000
| 400 2 (43 | 10 @213 | WE96) | 364 | 1 @D| 243 | 1@ | 0 00| 47 (1000
2 | 500 1670 | 3 @0 [ 10667 | 000 | 16| 000 | 000 | 0 00 15 (1000
60t 000 | 0 00O | 2100 | 000 | 0©0n| 0w©0n | 00y | 0 00| 2 1000
noq 000 | 1 G0 | 160 | 000 | 00| 00y | 00 | 0 0| 2 1000
AAATA | 3 1) | 7 6D | 16 (B | 2 48 | 2 @48 | 7 167 | 4 ©5 | 1 24 | 42 (1000
b 1 G7 |55 G4 | 6 G143 | 3 A7) | 000 | 1 6D | 1 6D | 0 ©0|175 (1000
2478 | 50D | 8 (145 | 2382 | 236 | 2 66| 403 | 2 @6 | 0 00| s 100
’5%;&]—3 000 | 0 ©0 | 3000 | 0w©) | 00| 00y | 0w©n | 0o 0| 3 (1000
Zl\_. gl
= | wetu 1L6n | 2 133 | 9600 | 000 | 00| 167 | 2 (33 | 0 00| 15 (1000
AT 16D |35 @2 | 7@ | 16D | 00| 3082 | 16D | 0 00165 (1000
9 1683 | 3 B0 | 5@wn | 168 | 16 16 | 000 | 0 00 12 (1000
224% | 263 | 3 0 | 2@8 | 16D | 263 263 | 000 | 0 00| 32 (1000
woq 000 | 1 333 | 267 | 000 | 00| 0w©n | 000 | 0 00| 3 1000
T<dn] 1 G7) | 5 (85 | 7 9 | 3 QLD | 2 (74) | 4 (148 | 4 (148 | 1 G2 | 27 (1000)
1734 163 | 2 125 | 8 G500 | 163 | 163 | 2 125 | 1 63 | 0 00| 16 (1000
354 000 | 4 250 | 9663 | 163 | 0 00| 2025 | 0 00 | 0 00| 16 (1000
A | 57104 2 G0 | 10 (50 | 20600 | 2 60 | 260|260 | 260 | 0 00| 4 (1000
4 | 107154 3115 | 2 77D | 16615 | 0 00 | 0 00| 5192 | 0 00 | 0 00| 26 (1000
15720 2 (118 | 2 (18 | 12706 | 0 00 | 1 GH| 000 | 000 | 0 00| 17 (1000
20deld | 163 | 2 105 | 15789 | 163 | 000 000 | 000 | 0 ©0] 19 (1000
woq 4014 | 6 A7) | 15 @9 | 2 67 | 1| 4 a4 | 3 86 | 0 00| 35 (1000
AA 4 (7D | 33 (168) | 1026200 | 10 6.1 | 7 36) | 19 07 | 10 G0 | 1 _(05) | 196 (100.0)

1L 717 0] gAbel s man. 2. o § Qlo] 553 3Jake] WS waEr. 3 EAA 4y & AS 3l Ao
4. &9 4 sEANA 4 £o. b Y HAT dRACdA dEEy. 6. = @4, HA IRACA 2F desh
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——
ol
=
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G2 okl AAAAIE A AR & AEVF &S FEehr] A& &
g3 AAShE Wete] AUtk o]l tigh Flste] o279 H&
thate] At eI ARl tE wEag Aol RN 86%(1177), Wi
125% (17%), ‘&% 15%2w%)o=2 veh diFFe] §eAtrt kA8t

= Zo® vtk 19 58]
SHAE 2 H]JL s, A o, AE, A% Ay, A5 gk
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<E 64> & uS AAC g It
T B 273 Ll ] A p-value
20tH 31 (96.9) 1 3D 0 (0.0 32 (100.0) 0.1173
30t 43 (76.8) 12 (21.4) 1 (18 56 (100.0)
o | 40th 30 (938) 2 (6.3) 0 (0.0 32 (100.0)
% | 50t} 11 (846) 1@ 1 @ 13 (100.0)
60t 1 (50.0) 1 (50.0) 0 (0.0 (100.0)
7o 1 (100.0) 0 (0.0 0 (00 (100.0)
A A A 23 (885) 3 (11.5) 0 (0.0 26 (100.0) 0.53577
A 75 (832) 1 118 0 (0.0 85  (100.0)
=N 32 (84.2) 6 (158 0 (0.0 38 (100.0)
R BARe s 3 (100.0) 0 (0.0 0 (0.0 3 (100.0)
2 | oighael 12 (100.0) 0 (0.0 0 (0.0 12 (100.0)
AT 85 (739 2 (174 1 @87 115 (100.0)
9 5 (625) 3 (375 0 (0.0 8  (100.0)
TEAN 24 (839) 2 (74 1 @37 27 (100.0)
7og 2 (100.0) 0 (0.0 0 (0.0 2 (100.0)
1o Rt 14 (100.0) 0 (0.0 0 (00 14 (100.0) 0.69097
1-24 10 (83.3) 2 (16.7) 0 (0.0 12 (100.0)
3-40d 12 (92.3) I )] 0 (0.0 13 (100.0)
7 | 594 24 (85.7) 4 (14.3) 0 (0.0 28 (100.0)
2] 10-149 17 (81.0) 3 (14.3) 1 48 21 (100.0)
15-199 9  (69.2) 3 (23.0) 1 @D 13 (100.0)
201 o] 13 (86.7) 2 (133) 0 (0.0 15 (100.0)
& 18 (90.0) 2 (10.0) 0 (0.0 20 (100.0)
2 A 117 (86.0) 17 (125) 2 (15 136 (100.0)
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<E 65> S LKA g g

o8 & g 2 BE e R | ghh | ®ew 27

20tH 3 (94 21  (65.6) 6 (188) 1 3D 1 GD [0 (00 32 (100.0)
30tH 11 (19.6) 13 (23.2) 18 (32.1) 7 (125) 6 (107 |1 (18) 56 (100.0)
ol | 40Th 5 (156) | 21 (65.6) 2  (6.3) 3 (94) 1 31 |0 (0.0 32 (100.0)
| 500 3 (231 6 (46.2) 1 @D 1 D 1 @70 |1 @D 13 (100.0)
60tH 1 (50.0) 0 (0.0) 0 (0.0) 0 (0.0 1 (50.0) |0 (0.0 2 (100.0)
] 0 (0.0 0 (00 1 (100.0) 0 (0.0 0 00 |0 (0.0 1 (100.0)
A A &4 3 (115) 15 (57.7) 6 (23.1) 1 (38 1 (38 |0 (0.0) 26 (100.0)
At 35 (41.2) 2 (235) 0 (0.0) 3 (35.3) 0 (00 |0 (00 | 85 (100.0)
=A7)% 4 (105) 17 (44.7) 11 (289 1 (26) 5 (132) [0 (0.0) 38 (100.0)
L | wadeE] Wy 0 (0.0 3 (100.0) 0 (0.0) 0 (0.0 0 00 |0 (0.0 3 (100.0)
2| st 2 (16.7) 6 (50.0) 3 (250 1 (83 0 00 |0 (0.0 12 (100.0)
SRS 05 (4.3) 6 (522) 2 (174 2 (174) 1 @7 |0 (00 |115 (100.0)
=R 0 (0.0 3 (375) 0 (0.0) 2 (25.0) 2 (250) |1 (125) 8 (100.0)
T 10 (37.0) 9 (33.3) 4 (14.8) 2 (714 1 37 |1 (37 27 (100.0)
& 0 (0.0 0  (0.0) 2 (100.0) 0 (0.0 0 00 |0 (0.0 2 (100.0)
=4 65 (12.1) | 223 (415) | 135 (25.1) 5 (93) | 65 (121) |0 (0.0) | 53.8 (100.0)
o) & 0 (0.0 3 (75.0) 0 (0.0) 1 (25.0) 0 00 |0 (0.0 4 (100.0)
A7 0 (0.0 03 (118 1 (35.3) 0 (00 | 05 (176) |1 (353) | 28 (100.0)
E R 4 (109 | 173  (47.1) 8 (217 | 45 (12.2) 3 81 |0 (00 | 368 (100.0)
Al WA/ A 2 (343) | 13 (400) | 05 (86) 1 (171 0 00 |0 (0.0 58 (100.0)
T A A 5 (566) | 23 (264) 0 (O | 05 (B7 0 (0 |1 (113) | 88 (100.0)
-3 25 (254) | 53 (542) 2 (20.3) 0 (0.0 0 (00 |0 (00 | 98 (100.0)

7] €} 2 (50.0) 2 (50.0) 0 (0.0) 0 (0.0 0 00 |0 (0.0 4 (100.0)
T 1 (10.0) 6 (60.0) 3 (300 0 (0.0 0 00 |0 (00 10 (100.0)
A A 23 (169 | 61 (449 28  (206) | 12 (88) 10 (74) |2 @15 | 136 (100.0)
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<% 66> &2 7H AFY doAo U g4
T B 1 2 3 4 5 6 2 A p-value
20tH 8 (25.0) | 21 (65.6) 3 (94) 0 (0.0 0 (0.0 0 (0.0) 32 (100.0) | 1.61E-05
30t 18 (32.1) | 23 (41.1) 8 (14.3) 6 (10.7) 1 (1.8 0 (0.0) 56 (100.0)
o] | 40 8 (25.0) | 20 (625) 1 (3D 3 (94 0 (0.0 0 (0.0 32 (100.0)
2 | 500 6 (46.2) 5 (385) 1 77D 0 (0.0 0 (0.0 1 (77 13 (100.0)
60T 1 (50.0) 0 (0.0 0 (0.0 0 (0.0) 1 (50.0) 0 (0.0) 2 (100.0)
F&d 0 (0.0 0 (0.0 1 (100.0) 0 0.0 0 (0.0 0 (0.0 1 (100.0)
AU A kA 6 (231) | 18 (69.2) 2 (17 0 (0.0 0 (0.0 0 (0.0 26 (100.0) | 0.0838
AFE S 1 (11.8) | 45 (529) 0 (0.0 3 (35.3) 0 (0.0 0 (0.0)| 85 (100.0)
47138 7 (184) | 21 (55.3) 6 (15.8) 3 (79 1 (26 0 (0.0) 38 (100.0)
| EAE] e 1 (333) 2 (66.7) 0 (0.0 0 (0.0 0 (0.0 0 (0.0 3 (100.0)
g o f 2 9 6 (50.0) 4 (33.3) 1 (83 1 (83) 0 (0.0 0 (0.0) 12 (100.0)
A4 6 (52.2) | 35 (30.4) 1 @87 1 (87 0 (0.0 0 (0.0) | 115 (100.0)
B 0 (0.0 4 (50.0) 2 (25.0) 1 (125) 1 (12.5) 0 (0.0 8 (100.0)
TR 13 (481) | 12 (44.4) 1 37 0 (0.0 0 (0.0 1 (37 27 (100.0)
4 1 (50.0) 0 (0.0 1 (50.0) 0 (0.0) 0 (0.0 0 (0.0 2 (100.0)
=4 3 (21.4) 9 (64.3) 2 (14.3) 0 (0.0) 0 (0.0 0 (0.0) 14 (100.0) | 0.66405
uf} 23 3 (25.0) 7 (58.3) 1 (83 1 (83) 0 (0.0 0 (0.0) 12 (100.0)
A=A 4 (30.8) 5 (385) 2 (15.4) 2 (154) 0 (0.0 0 (0.0 13 (100.0)
FldtAa 8 (286) | 14 (50.0) 3 (107 2 (7.1 1 (36) 0 (0.0) 28 (100.0)
‘,’é A /AL 9 (42.9) 8 (381) 2 (95) 2 (95 0 (0.0 0 (0.0 21 (100.0)
T A R R 2 (15.4) 9 (69.2) 1 7D 0 (0.0 0 (0.0 1 (77 13 (100.0)
oS 7 (46.7) 5 (33.3) 0 (0.0 2 (13.3) 1 6.7 0 (0.0) 15 (100.0)
&5 5 (25.0) | 12 (60.0) 3 (15.0) 0 (0.0 0 (0.0 0 (0.0 20 (100.0)
A A 41 (30.1) | 69 (50.7) | 14 (10.3) 9 (66) 2 (1.5 1 (07 | 136 (100.0)
* 1. % 48 2. 43s 2
3. BRE 4. 47 949 A S
5 Jagle 6. F3
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<E 67> &ZH e tHEFAA I A
=g E A E 2 A =P} EEdE A | ER ¢ EA
204 7 (21.9) 20 (62.5) 1 (3.1) 4 (12.5) 0 (0.0) 32 (100.0)
304 14 (25.0) 21 (37.5) 7 (12.5) 12 (21.4) 2 (3.6) 56 (100.0)
o] | 40tH 11 (34.4) 15 (46.9) 2 (6.3) 4 (12.5) 0 (0.0) 32 (100.0)
S 50t 7 (53.8) 6  (46.2) 0 (0.0) 0 (0.0) 0 (0.0) 13 (100.0)
60 1 (50.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (50.0) 2 (100.0)
T e 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0)
2914 28 (26.2) 49 (45.8) 9 (8.4) 19 (17.8) 2 (1.9 107 (100.0)
Kl e e 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0)
A | AFE st 0 (0.0) 3 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 3 (100.0)
T | s R} 4 (30.8) 7 (53.8) 0 (0.0) 1 (7.7 1 (7.7 13 (100.0)
= 7 (70.0) 3 (30.0) 0 (0.0) 0 (0.0) 0 (0.0) 10 (100.0)
T e 0 (0.0) 0 (0.0) 2 (100.0) 0 (0.0) 0 (0.0) 2 (100.0)
1wt 3 (21.4) 11 (78.6) 0 (0.0) 0 (0.0) 0 (0.0) 14 (100.0)
1-2d 2 (16.7) 4 (33.3) 1 (8.3) 5 (41.7) 0 (0.0) 12 (100.0)
3-4d 3 (23.1) 5] (38.5) 2 (15.4) 2 (15.4) 1 (7.7) 13 (100.0)
7 5-9d 11 (39.3) 9 (32.1) 2 (7.1) 5 (179 1 (3.6) 28 (100.0)
4| 10-149 8 (38.1) 8 (38.1) 2 (9.5) 3 (14.3) 0 (0.0) 21 (100.0)
15-194 4 (30.8) 6 (46.2) 1 (7.7) 2 (15.4) 0 (0.0) 13 (100.0)
20 o] 3 (20.0) 9 (60.0) 0 (0.0) 2 (13.3) 1 (6.7) 15 (100.0)
o 6 (30.0) 10 (50.0) 3 (15.0) 1 (5.0) 0 (0.0) 20 (100.0)
Z A 40 (29.4) 62 (45.6) 11 (8.1) 20 (14.7) 3 (2.2) 136 (100.0)
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<% 68> &2 ZH AG W I g4
T+ B 24 shoj ] A p-value
200 30 (93) 2 (63) 0 (0.0 32 (100.0) 0.10794
30 51 (911 5 (89 0 (0.0 56 (100.0)
o1 | 40t 28 (875) 4 (125) 0 (0.0 32 (100.0)
% | 50t} 12 (923) 0 00 1 @ 13 (100.0)
60 1 (50.0) 1 (50.0) 0 (0.0 (100.0)
8 1 (100.0) 0 (00 0 (0.0 (100.0)
712 A 8k A 24 (92.3) 2 (17 0 (0.0 26 (100.0) 0.28847
A % 55  (64.7) 3 (35.3) 0 (0.0 85  (100.0)
=479 35 (92.1) 3 (79 0 (0.0 38 (100.0)
| wdueE e 3 (100.0) 0 (00 0 (0.0 3 (100.0)
2 | gty 11 (L7 1 (83) 0 (0.0 12 (100.0)
B EES 105 (913) 1 @®7 0 00 115 (1000)
ER 7 (875) 1 (125 0 (0.0 8 (100.0)
FTIAY 26 (96.3) 0 (00 1 @37 27 (100.0)
T8 1 (50.0) 1 (50.0) 0 (0.0 2 (100.0)
IR 13 (929 1 @D 0 (0.0 14 (100.0) 0.44675
1-2d 11 917 1 (83 0 (0.0 12 (100.0)
3-4d 11 (846) 2 (154) 0 (0.0 13 (100.0)
2 | 599 27 (96.4) 1 (36 0 (0.0 28 (100.0)
2 1 10-149 20 (952) 1 48 0 (0.0 21 (100.0)
15-199 11 (846) 1 a7 1 @D 13 (100.0)
201 o] 4 12 (80.0) 3 (20.0) 0 (0.0 15 (100.0)
et 18 (90.0) 2 (10.0) 0 (0.0 20 (100.0)
A A 123 (90.4) 12 (88 107 136 (100.0)

- 139 -



5. %2749 AR Aa

Y7rel

Faow, ‘1A

S

Bo

W) SuAe] 80%7} ok ol

a9 A 8.1%(11%),

il

2 uetwton, £33 1.5%2%) ol Atk [ ¥ 63]

o

)

g

2.2%(3

o157

Zpol 7k yElst o™, 1 9]

ki3

3 Aol wa} fel

o2 UERETh<

69>

-
It

A

0

L] u L]
(23] ('] (']
(%E|n5

g
olo

[23 63] &% A9 7| hat.

- 140 -



<E 69> FIAFE AR 7IHEFH

833

o7t

A

2z

i
o

¥ 2V se 8| a0a | Wea | Swa | ¥89 &A | prvalue
20tH 11 (34.4) 16 (50.0) 4 (125) 1 (3.1 0 (0.0 0 (0.0 32 (100.0) 0.01129
30 16 (28.6) 24 (429) 7 (125) 6 (10.7) 2 (3.6) 1 (1.8 56 (100.0)
] 40tH 15 (46.9) 13 (40.6) 0 (0.0 4 (12.5) 0 (0.0 0 (0.0) 32 (100.0)
K 50tH 8 (61.5) 4  (30.8) 0 (0.0 0 (0.0 0 (0.0 1 (7.7 13 (100.0)
60t 1 G0 | 0 ©» | 0 00| 0 ©0 | 16| 0 00| 2 1000
T+ 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0 1 (100.0)
A A A sk 9 (34.6) 14 (53.8) 2 (7.7 1 (3.8 0 (0.0 0 (0.0) 26 (100.0) 0.05722
AL % 35 (41.2) 1 (118 0 (0.0 4 (47.1) 0 (0.0) 0 (0.0 85 (100.0)
=473 9 (23.7) 18 (47.4) 6 (15.8) 2 (5.3) 2 (6.3) 1 (26) 38  (100.0)
. i%fﬁf& 1 @3 2 @n| 0o 0| 0 00| 0 ©0| 0 00| 3 1000
& qeuyd 7 (58.3) 4  (33.3) 0 (0.0 1 (83) 0 (0.0 0 (0.0) 12 (100.0)
A4 45 (39.1) 4 (34.8) 1 (&7 2 (17.4) 0 (0.0 0 (0.0 115 (100.0)
H Ll 1 (125) 4 (50.0) 1 (125 1 (125) 1 (125) 0 (0.0) 8 (100.0)
TEgE 16 (59.3) 10 (37.0) 0 (0.0 0 (0.0 0 (0.0) 1 (3.7 27 (100.0)
Pog 0 ©0O | 1 00| 1 G| 0 0O | 0 00| 0 ©0O| 2 1000
1dw)wk 4 (28.6) 8 (57.1) 1 (7.1 1 (7.1 0 (0.0 0 (0.0 14 (100.0) 0.81988
1-24 2o (167 | 8 66D | 1 83| 1 ®) | 0 00| 0 00| 12 (100.0
3-44 3 (23.1) 6 (46.2) 2 (154) 1 @7 1 (7.7 0 (0.0) 13 (100.0)
a | 594 4 G00)| 9 @D | 3 1W0D| 1 @6 | 1 36| 0 00| 28 1000
4 | 10149 9 429 | 7 (B3| 1 @8 | 3 14| 0 00| 1 4® | 21 1000
15-194 4 (30.8) 7 (53.8) 0 (0.0 1 @7 0 (0.0 1 7.7 13 (100.0)
203 o] 6 (40.0) 6 (40.0) 0 (0.0 2 (13.3) 1 6.7 0 (0.0) 15 (100.0)
vog 9 40| 7 B0 | 3 50| 1 GO | 0 00| 0 ©0O| 20 1000
A 51 (375) | 58 (426) | 11 (8.1) |11 (81 |3 (2.2) (15) | 136 (100.0)

- 141 -



37kA vt

ki3

g AxE

(cannon)ol vt & 2] 7t 2F(code) o] A A st AprA o]t} REAA A &2 A7 %=

gt el Ae) wE§A 9

-
1

nhe} o] =LA 374

70> 4 K=

<3

et

37}X]

ki3

<E 70> ATV A& AxE H

4+

wK

1. 83 %(Cannon) A A

iy

= >
T

ol
=X

2. AA &2t %F(Code) A174

2t

Hc]—o

<o i

1ol A A4 ez GA

[e)
2
RIS

S A

ﬁo

L
e
of) i

3. & g H/H AATFAH =4

2t

Hho

i

o

0

Gl
X

A
oF

(-
i
™
of

Hlo
To

)

e
o)

oy
vA

A
K
ol
Fu

X,_.,mu

=
o 3

) ER

- 142 -



D 71l &= 37t

(1) &8 A (Cannon)e] #17g

Felddel gk I Eel i AEs] =sE 3 122% (18%),
OFF =5 d A 316%((43%), ‘1A 18 A 24.3%(339), EE =& <F

2 A 176%1247), ‘A8 =& F 2 3 11%((15%), ‘789 2.2%(39)
o2 yepwgrh[1d 64]

—_

SHAEY MaE A, AW, A, A, A%, Y, 24T @ @
VA el g A0 ettt 10>

35

30

25

SEHIE0%)
=

I5

10

5 I

0 I
4% @7 I g=og MY ==
SREA EEEH 2B 2 2EA

[2¥ 64] &3 A& (Cannon) 7| &,

- 143 -



<¥E 71> & AA(Cannon) AR 7|NEH

o7t

1A

HE =&

s =&

¥ 2V se 8| a0a | YWea | Swa | ¥89 &A | prvalue
2000 1T (25 | 13 @06 | 6 188 ] 8 @0 1 BD | 0 00 32 (1000 03%8
300 g8 (143 | 10 79 | 15 268 | 12 @4 | 10 79| 1 (18 | 56 (100.0)
o1 | 400 3 94 | 14 43® | 8 50| 4 25| 2 63| 1 GD| 32 1000
2 | 500 2 54| 5 385 | 4 (08| 0 ©0 | 1 @D | 1 @D| 13 1000
601l 1 (00| 0 0O | 0 00| 0 00| 1 G| 0 00| 2 1000
wgy 0 ©0 | 1 00| 0 ©o | 0o ©o» | 0 0O | 0 ©0| 1 1000
AAASA | 2 a1 | 12 462 | 6 1| 6 31D 0 00 | 0 00| 26 (1000 | 013204
b1 05 69 | 7 G4 | 1 18| 0 00| 0 00| 0 00| 85 1000
=779 4 105 | 8 @ | 7 (84| 11 89| 7 (184 | 1 26| 38 (100.0)
. ;‘333 1@ 1 @3y 1 @3] 0 00 0 00| 0 00| 3 1000
SR EEL 2 6T | 3 (B0 | 4 B3| 0 00 | 2 a6n| 1 83| 12 1000
SEDS 15 (130) | 3 @61 | 2 (74| 3 @D | 2 A74H| 0 ©0) | 115 (1000)
9 1 (25| 0 00 | 4 G00| 0 00| 3 @G75| 0 00| 8 1000
L 6 22| 8 @6 | 8 @e| 3 wn| 1 G| 1 GD| 2 1000
oy 0 00| 1 60| 0 00| 1 G| 0 00| 0 ©0| 2 1000
ELE 5 (143) | 7 (00| 2 (43| 2 43| 1 @D | 0 00| 14 (1000 | 024334
12 2 a6n | 2 a6 | 1 83 | 4 (33| 3 @0 0 00| 12 (100.0)
54 2 54| 2 as4H | 7 (3% | 2 a5H| 0 00O | 0 ©0 | 13 (100.0)
2 | 50w 4 3| 8 @86 | 7 50| 2 @b | 5 19| 2 @D | 28 (1000
4 [ 10 149 3 13| 4 190 | 4 190 | 7 (33| 3 43| 0 ©0 | 21 (100.0)
15-194 L an | 5 (85| 3 @] 1 @n | 2 | 1 @an| 13 1000
20 0] 4 16D | 9 ®0 | 3 0| 1 6D | 1 61| 0 00| 15 1000
rey 3 150 | 6 (00| 6 (00| 5 50| 0 00| 0 00| 2 (100.0
PE] 18 (132) | 43 (316) | 33 (243) | 24 (176) | 15 (1L0)| 3 (22 | 136 (1000)

- 144 -



(2) &8 2F(Code)] #14
AHA] Eelatofel diE ZIdE el whef dds]l =sE A 272% (37

R B " AU 456%(629), ‘1A 1d A 13.2%(18%), ‘HE &
2 51%(79), ‘A3 =g <k & A8 S

e T[] 65]

5o HuE Hs, A, A", dE, &F -
I o] weh Folgh o7k yEbwkow, 1 el {954
e Th<3E 71>

of Ho of
o
fu

olo

>

El

Ao

1%
U

1

&2
rr
P

o

50
45
440
35
30
25
20
15
10

STHIE0)

4% @7 I¥ g=cg MY EE 98%
CEEH ESER IBF FER A

[Z™ 65] RA &2 < (Code) 7]t & .

- 145 -



<E 72> AA &7 F(Code) #AALY 7Ih &

833

o7t

A

fru
i
o

18 =&

T ¥ ImgaA|wgdA| a9 A | qan | TEH &A | prvalue
20tH 4 (12.5) 19 (594) 5 (15.6) 4 (125) 0 (0.0 0 (0.0 32 (100.0) 0.09623
30t 17 (30.4) 19 (33.9) 9 (16.1) 3 (4 7 (125) 1 (1.8 56 (100.0)
] 40tH 9 (28.1) 18 (56.3) 3 (94 0 (0.0) 2 (6.3) 0 (0.0 32 (100.0)
3 50tH 6 (46.2) 6 (46.2) 0 (0.0 0 (0.0) 1 7.7 0 (0.0 13 (100.0)
601l 1 (00| 0 00O | 0 0O | 0 00| 1 G| 0 00| 2 1000
T+ 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0 0 (0.0 1 (100.0)
A A A sk 3 (115) 17 (65.4) 5 (19.2) 1 (38 0 (0.0 0 (0.0 26 (100.0) 0.01041
b1 2 (235 |35 (412)| 3 353 | 0 ©O | 0 00| 0 00| 85 (100.0)
=473 12 (31.6) 13 (34.2) 4 (105) 3 (79 6 (15.8) 0 (0.0 38 (100.0)
. ;‘{;33 1 @3 2 @n| 0o 00| 0 00| 0 ©0| 0 00| 3 (1000
& o & ¢l 1 &3 8 (66.7) 0 (0.0 1 (83) 1 (83) 1 (B3 12 (100.0)
AT 4 (34.8) | 45 (39.1) 1 (@7 1 @7 1 (87) 0 (0.0 115 (100.0)
H Ll 1 (125) 2 (25.0) 3 (375) 0 (0.0) 2 (25.0) 0 (0.0 8 (100.0)
TEgE 13 (4R8.1) 12 (44.4) 0 (0.0 1 @37 1 (3.7 0 (0.0 27 (100.0)
oy 0 00| 0 ©o | 2 aon| 0o ©» | 0 00| 0 ©O| 2 (100
13 m] vk 2 (14.3) 8 (57.1) 3 (21.4) 0 (0.0 1 (7.1) 0 (0.0 14 (100.0) 0.33777
12 o a6n | 3 250 | 2 6D | 3 50| 2 16D | 0 00| 12 (100.0)
3-4d 3 (23.1) 7 (53.8) 2 (154) 1 @7 0 (0.0 0 (0.0 13 (100.0)
7 5-94 11 (39.3) 10 (35.7) 3 (10.7) 0 (0.0 3 (10.7) 1 (3.6) 28 (100.0)
4 [ 10 149 6 (286)| 8 (8D | 1 @8 | 3 3| 3 14| 0 00| 21 (1000
15-19¢ 5 (385) 5 (385) 2 (154) 0 (0.0) 1 (7.7 0 (0.0 13 (100.0)
203 o] 4 (26.7) 9 (60.0) 1 6.7 0 (0.0) 1 (6.7) 0 (0.0 15 (100.0)
oy @0 | 12 600 | 4 @0 | 0 00| 0 ©0| 0 00| 2 1000
A 37 (27.2) 62 (456) 18 (13.2) 7 (6.1) 11 (8.1) 1 (0.7 136 (100.0)

- 146 -



(3) HA4 AATEe] =4
WA g W Aael da 4Es =ed A 551% (2
i), Okt =8 " A’ 27.9%(38%), ‘24 28 A 66%(09%), HE =

9%(47), ‘Add =& F F Z 51%((7H), F&H 2.2%(3%)

STHIE )
P L E L [ay]
[ o] [ == (=]

i
=

%8| %7 O EEE® MY ES 28F
EEEH ESEA IBW ATH ATA

[23 66] ¥4 &4 7IHAES.

- 147 -



<E 13> WA $274 =99 AGE

20t 17 (33.1) | 14 (43.8) 1 @31 0 00 0 0.0 0 (0.0 32 (100.0) | 0.02451
30th 29 (51.8) | 15 (26.8) 7 (125) 1 (1.8 4 (7.1) 0 (0.0) 56 (100.0)
ol | 40th 20 (625) 5 (156) 1 G 3 (94 2 (6.3) 1 @31 32 (100.0)
B | 50t 7 (53.8) 4 (30.8) 0 (0.0 0 (00 0 (0.0 2 (154) 13 (100.0)
60Th 1 (50.0) 0 (0.0 0 (0.0 0 (0.0 1 (50.0) 0 (0.0 2 (100.0)
Ty 1 (100.0) 0 (0.0 0 00 0 (0.0 0 (0.0 0 (0.0 1 (100.0)
7 A 82 13 (50.0) | 11 (42.3) 2 (1D 0 (0.0 0 (0.0 0 (0.0) 26 (100.0) | 0.00245
A 3 (35.3) 1 (118 1 118 3 (35.3) 0 (00 | 05 (5.9 85 (100.0)
=A717 22 (579) 7 (184) 2 (53) 1 (26) 5 (132) 1 ©26) 38 (100.0)
. ;‘{;33 1 @3 | 2 @D | 0o 00| 0 ©0| 0 00| 0 ©0| 3 1000
= | geae 5 (417 6 (50.0) 0 (0.0 0 (0.0 1 (83 0 (0.0) 12 (100.0)
AFA 6 (52.2) 3 (26.1) 2 (17.4) 0 (0.0 0 (00 | 05 43) | 115 (100.0)
=R 2 (25.0) 3 (375 2 (25.0) 0 (0.0 1 (125) 0 (0.0) 8 (100.0)
TEAR 21 (77.8) 5 (185) 0 (0.0 0 (0.0 0 (0.0 1 @37 27 (100.0)
] 2 (100.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0 0 (0.0 2 (100.0)
1dm ek 7 (50.0) 7 (50.0) 0 (0.0 0 (00 0 (0.0 0 (0.0) 14 (100.0) | 0.65885
1-2d 4 (33.3) 5 (417 1 (83 0 (0.0 2 (16.7) 0 (0.0) 12 (100.0)
3-4d 9 (69.2) 1 @7 2 (154) 1 D 0 (0.0 0 (0.0) 13 (100.0)
A | 594 15 (536) 8 (286) 3 (107 0 (0.0 1 (36 1 (36) 28 (100.0)
2| 10-149 14 (66.7) 4 (19.0) 1 (48 1 (48 1 (48 0 (0.0 21 (100.0)
15-19d 7 (53.8) 2 (154) 0 00 1 (77 2 (154) 1 77 13 (100.0)
20 o] AF 8 (53.3) 4 (267 1 67 1 (67 1 67 0 (0.0) 15 (100.0)
F3y 11 (55.0) 7 (35.0) 1 (50 0 (0.0 0 0.0 1 (50 20 (100.0)
2 A 75 (55.1) | 38 (28 9 (66) 4 (29 7 5.1 3 (22 | 136 (100.0)

- 148 -



S0 A7 et
&4 AR ekl i) ek 1. &R 16.2% (229), ek, &
A &Pl el 375%(619), ‘Wt 3. WA &Yt A 44.9%619), ‘FE&H
15%(2%) o= Yvelgth 19 67]
SHAEY HuE 98, A, A¥, AF, 2% A, FIF g
WAREA A A"l wep frol gk el 7k vEbgton, 1 flel] {2l
g o= YEyth<aE 73>

ot
RIUT XN RFY YN AT

O 2 Ck
==

[Z¥ 67] AE7F Ad& At A A=

- 149 -



<E 74> AEZ7F P& Aot g As=
T B S84 L= Ryl WA ZAATA 2s$g A p-value
2040 1 (125) 9 (B 19 694) 0 00 32 (1000) | 0.000258
304 8  (143) 21 (375) % (464) 1 (18 5 (100.0)
o | 400 7 (219 14 (438) 1 (344) 0 00 32 (100.0)
4 | 50¢) 3 (231) 6 (462) 4 (308 0 00 13 (100.0)
604 0 (00 0 (00 1 (500) 1 (50.0) 2 (100.0)
7o 0 0.0 1 (1000) 0 00 0 00 1 (100.0)
AAA A 3 (115) 11 @23 2 462 0 00 %  (1000) | 024259
Ay 4 (411 (235) 95 (294) 0 00 85  (100.0)
=479 10 (263) 15 (395) 13 (342 0 00 38 (100.0)
nde 1 (333 1 (333 1 333 0 00 3 (100.0)
| W | | ' ' '
= | geae 0 00 4 (333 7 (583) 1 83 12 (100.0)
A7z 1 @®7 4 (348 65  (565) 0 00 | 115 (100.0)
9 1 (125 2 (250 4 (B00) 1 (125) 8 (100.0)
FEAR 2 (74) 11 (407 4 (L9 0 00 27 (100.0)
7o 0 (00 1 (500 1 (500) 0 00 2 (100.0)
1] 2 (143) 7 (50.0) 5 (357 0 (00 14 (10000 | 020189
1-24 0 00 5 WL 6  (50.0) 1 83 12 (100.0)
3-44 4 (308 4 (308) 5  (385) 0 00 13 (100.0)
2 | 5-99 3107 10 37 15 (536) 0 00 28 (100.0)
= | 10-144 4 (190) 6 (286) 1 (624 0 00 21 (100.0)
15-194 3 (231) 7 (538 3 (231) 0 00 13 (100.0)
201 o] 2 5 (333 6 (40.0) 3 (200 167 15 (100.0)
Teg 1 (5.0) 6 (30.0) 13 (65.0) 0 (0.0 20 (100.0)
A 2 (162) 51 (375) 61 (449) 2 (15 136 (100.0)

- 150 -



A4 A E

BodTE Seue gaARE FANE 4TS ST ol
T feld EA AWt Qov], 1UW fed TAA FWstw
oGl Wsm EA HHE setsm, FF AYANY FAE)
2Abe7) gl AAH AT MERALE
A e FHAE PO
B2l S 13692 tgoR s

Do
(e}
—_
[\
L
w
o,
—
a1l
e
=
=
B
W i
ot
M

a .

ZAA A 1367 Fol A 9 1039 (75.7%), o142 327 (235 %),
o1 W By 200 32%(235%), 30t 567
(41.2%), 40tH 327 (23.5%), 50th 139 (9.6%), 60th 27 (1.5%), T3 % 17
0.7%)°1 At AedzE A9 1079(78.7%), AHA7+E 194(0.7%), At
998t 3% (229%), $A ROk 13%9(9.6%), 718 109 (7.4%), F+& 29 (15
%) ol ATt

2. IF-E(95%)9 SHAE 4 Sl AR HEFo| ~EHAE

AF
St Qo vehgon, $

4n

Wtk 47 gAbel 14%5 A9 w9, 375%
o AFde] FF W ol 2EHLE BE AOE vehy

3. QA BoF AL Awinthe o EHAen 4400}
@b ol 7lo] 5449%(74), Awrdrt A4 o e Hola felHolojo}
Srhh 375%(B1W) 02 A 929 ool Awelmrt o el olojop
Frha Azkea Qe Ao vehg,
4. QA FAAL oF 19%% AP MW Sgeck & T
ol e 24 A RHES 8Twe Aol dom, AE oluw
STE WE A7 EFHE o Aw] o2k AN FAAN 5
Ao 2RAY Fae Agel dold AHHoR 23S x| wrs
27w Qe Ao tehdth £d 4UY B wE addelAw A
PFNM wmBHOoR FYHA W AT LTWE A AF EE BF



WS 97t oF 15%e) ol 2e), AR 1@ A7k Ak SHAA
FAW 42061 o2 Ao ey

5. FAAATE = UM ASAS e AS AdHers a4 A
% AT 51%((7T8) HEe FE 199%27%8) e Ae® UEwTh
SAAI g FAY FAS a7EE AFE T 21.83%((207), =
‘TF 147%(207) EASA AAJn AA = SAHA ¥ SAHI AA
A gt AHA R aNE 49 Tk 18%(245%
6.6%(97 )l ‘A" 1.5%(12%) U= AL = e
d

6. 94 FAAE T2 SRt

=

= A9 Wi 44%(6%), ‘LAl g W 23.5%(327), &k 2ol &
7 oA 27.9%(8389), ‘MY el FF W 14%(199), 4 doll g W
19.1%(26%), ‘A8 ¢ =74 10.3%(147) so=2 Yeut &84 A=
A3 ~E Y2 Ao taiA = W =5 3.7%069), Ea 33.1%((459),

&' 353%(48%), ‘St 17.6%(247), ‘M- HE 96%(13%) so= U

o

de] AA Fadel daiM= A B87 30.1%(417),
el de’ 50.7% (69%), ‘HE 103%(14%), "EE HQsHA &S
6.6%097), ‘D& gl5 15%(2H) o= §Hstd %&’3}5}% 9424_0 Al
wj ol et zela 1 Z el A s I E°°l g 2 204

), R mgol d A 456%(629), ‘1A 19 A’ 81%(11%), ‘HE =
w Qb E AU 147%(20%), “dE b 2 A 22%06%) s SHet
o]

9

A9 A7 AhdaE Asbekd f2d 4 (Cannon), #8744 ®
(Code), & A A Ajrkete] 371A] ®Fekol] thet AE = HAQJ ZAG+A
1(44.9%)°] 7b& =arom, 2 vsoR A a@fatefd] &dd® s

- 152 -



& RS- Xﬂ
Feldgs
Al T
75%) 11
"k (37.

- 153 -

Fo =
*cq N
1Hok(16.2%)



Y
g

XA

e
il

B
Jo
oy

—

NI

B

B/

B

)

op

o

o
Tor

K

Tor

i

ol

2006,

2~ OJ
T,

He

A}

ﬂo
o

~O

o

94

A

HE

"5}

L5F, 2004,

ol gy, 2001, "ANALE] A 275

- 154 -



2. =923

ABIH, 2007, American Board of Industrial Hygiene Code of E'thics,

Americal Board of Industrial Hygiene

AIHA, 2012, E'thical Principles, American Industrial Hygiene
Association,

http://www.aiha.org/insideaiha/academy/Pages/EthicalPrinciples.aspx

ASSE, 1974, Code of Ethics for the Safety Profession, American
Society of Safety Engineers, adopted by the ASSE Assembly in
1974, ASSE

BCSP, 2002, CODE OF ETHICS AND PROFESSIONAL, Board of
Certified Safety Proféessionals(BCSP), Adopted by BCSP in
October 2002.

BOHS, 2002, Code of Ethics, The British Occupational Hygiene

Socrety Faculty of Occupational Hygiene, BOHS

- 155 -



ABSTRACT

A Study on the Perception of Industrial Hygienists on
the Industrial Hygiene Professional Ethics

Jong-Jin Park
Major in Industrial Hygiene Engineering
Dept. of Mechanical System Engineering

Graduate School, Hansung University

The study was conducted to survey the perceptions and opinions
of industrial hygienists for the industrial hygiene professional ethics.
Written survey questionnaires were distributed to participants in the
Korean Industrial Hygiene Association Annual Conference in March
2012. Total 136 questionnaire were collected.

Results of this study were as follows.

Most industrial hygienists (929 respondents) believed that
industrial hygienists should have higher morale and ethical standard
and behavior than the general public.

A number of industrial hygienists are suffered from stress related
to ethical matters during their work. Fourteen percentage of
respondents are suffered from this stress almost every day and 38%
once or twice a week.

Around 50% of respondents are being frequently or occasionally
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requested not to make the measurement for certain workers or certain
area that are believed to be measured. Forty two percentage of
respondents have occasionally experienced not to measure certain
chemicals by employer. It was found that these kinds of unfair
requests or pressure by employer put industrial hygienists in ethical
dilemma.

Most industrial hygienists believed that education for vocational
ethics would help industrial hygienists to deal with the ethical dilemma.
For education for ethics, respondents ranked the expected effectiveness
in very high(17%), high(45%), middle(21%), low(9%) and very low(7%)
respectively.

Most respondents (81%) agreed to introduce the Cannon of

Professional Ethics or Code of Ethics. Most industrial hygienists

preferred introduction of legal regulation for professional ethics.

[Key Word] professional ethics, cannon of ethics, code of ethics,

industrial hygiene ethics, vocational ethics
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